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Question Number : 1 Question Id : 97675518189 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Arrange the given words in the sequence in which they occur in the dictionary.
1. PRECODE

2. PRECISE

3. PREDICT

4. PRECEPT

5. PREDIAL

Options :

1. * 4,1,23,5

2. % 42351

3.¥42.1,53



4. % 421,35

Question Number : 1 Question Id : 97675518189 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

U 7T Tea] BT 39 HH | AT < Ford o5 H H d eadh I H B1d 3|

1. PRECODE

2. PRECISE

3. PREDICT

4. PRECEPT
5. PREDIAL

Options :

1. % 4,1,2,3,5
2. % 423)5,1
3.9 421,53
4. % 421,35

Question Number : 2 Question Id : 97675518190 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Find the missing term in the following series :
U4w, , 012Q, L16N

Options :
1. # Q6M
2. % P8Q
3. # RIOM
4. ¥ R8T

Question Number : 2 Question Id : 97675518190 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafafad e # qu ue I &

U4w, , 012Q, L16N




Options :
1. # Q6M
2. % P8Q
3. ¥ R10M
4. ¥ R8T

Question Number : 3 Question Id : 97675518191 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the option that is related to the third term on the same basis as the second term is related to the first term.
Insect : Larva :: Hen : ?

Options :

1. # Cock

2. ¥ Mammal
3. % Egg

4. ¥ Chick

Question Number : 3 Question Id : 97675518191 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

39 fAdhed BT 997 B S iR UG ¥ 341 UHR ¥ Yafdd g fo UR ¥ gOR1 UG Ugd Ug ¥ Hafed g
W:%ﬁ::ﬂ"ﬁ:?

Options :

1. % T

2. % YR

3. % 3f31

4. & TSIl

Question Number : 4 Question Id : 97675518192 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the option pair that shares the same relation between its clusters as shared by the clusters given in question.



IRX : KUB :: ?
Options :

1. ¥ MUD : OXH
2. % NQE : PYH
3. %# EQW:HVB
4. ¥ MHZ : KMA

Question Number : 4 Question Id : 97675518192 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

I faeped SISt 1 99 DI Sl 307 TG P S GHM e JTeh Bl & ol fob Uy & faw Tu gugl gry |rei fovar man 2|

IRX : KUB :: ?
Options :

1. ¥ MUD : OXH
2. % NQE : PYH
3. ¥ EQW:HVB
4. ¥ MHZ : KMA

Question Number : 5 Question Id : 97675518193 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

If 23-27-32-36 is coded as 25-31-38-44, then what is the code for 13-11-15-17?
Options :

1. ¥ 15-15-21-25

2. % 15-13-17-19

3. % 15-14-18-20

4. % 15-16-20-22

Question Number : 5 Question Id : 97675518193 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

g 23-27-32-36 DI 25-31-38-44 H TG U DIfSd [GATTATE, T 13-11-15-17 & [T HIS FT 5?2
Options :

1. ¥ 15-15-21-25

2. % 15-13-17-19

3. % 15-14-18-20

4, % 15-16-20-22

Question Number : 6 Question Id : 97675518194 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

If GULP is coded as JXOS, then what is th code for SLACK?
Options :

1. ¥ YOFGN

2. % WOCEM

3. ¥ VODFN

4. % XOCDM

Question Number : 6 Question Id : 97675518194 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

i GULP &1 JXOS & =0 & Hifsd fooan ma1 &, A SLACK & forg bl Fa1 52
Options :

1. ¥ YOFGN

2. ¥ WOCEM

3. % VODFN

4. ¥ XOCDM

Question Number : 7 Question Id : 97675518195 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Hina, Isha, Jessica, Kamini and Leela are sitting on a bench. Jessica is between Isha and Leela. Hima is to the right of Isha. Kamini is not next to



Leela. Who is to the right of Hina?
Options :

1. # Leela

2. % Isha

3. % Kamini

4. % Jessica

Question Number : 7 Question Id : 97675518195 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

o, S, SR, FIfE ST ofie T o R 93T & | ST ST 3R i & ot # 931 31 51, S 1 aT8 IR 9T 31 HIre, ofie &
FAHATR 51 RN FH R IR DA 32

Options :

1. % qtar

2. % TR

3. ¢ BIEAT

4. % SfYDT

Question Number : 8 Question Id : 97675518196 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

If A $ B means A is the mother of B, A # B means A is the son of B and If A * B means A is the daughter of B, then what doesP$ Q * R# S
mean?

Options :

1. # S is the father of P

2. # S is the grandfather of P
3. % S is the brother of P

4. ¥ S is the father-in-law of P

Question Number : 8 Question Id : 97675518196 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



JCASBHTIITA BPIUMIG, A4BHIHU G, A, BHIICIg AR AT A*BHT I T A, BRI, AP S Q*R#S P 3 g2
Options :

1. % s pHIfUaTg

2. % S PHISC/A

3.% S PHIHR G

4.9 S, PHITRE

Question Number : 9 Question Id : 97675518197 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The criteria for selecting a Branch Manager have been given as under:

The candidate must:

1. Be a graduate in any stream with at least 60% marks.

2. Be an MBA or hold a post-graduate diploma in any stream of management with 55% marks.

3. Be between 30 and 40 years old on the date of application.

4. Should have work experience of more than 3 years

The following exceptions apply:

A. If a candidate meets all other criteria except 4 above, the candidate will be referred to the General Manager.
B. A candidate whose age is more than 40 years but less than 50 years will be referred to the HR Head.

Manisha Agarwal is a B.Com graduate with post-graduation in Finance. She has scored more than 75% in graduation and 78% in post-
graduation. She is 38 years of age. She has been the branch manager of the town branch of a reputed firm for 1 year.

What decision should be taken about this candidate?

Options :

1. # The candidate should be selected.

2. # The candidate should be rejected.

3. ¥ The candidate should be referred to the General Manager.
4. ¥ The candidate should be referred to the HR Head.

Question Number : 9 Question Id : 97675518197 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % IMHIGIR T T9- a1 ST A1fg T |

2. % IHIGIR I WIS B a1 S A1yl

3.  ITCAR & HeUEY® &I Jeftfd far s anfgul
4. % IR HI HR UHE P Yefid foar s =nfgul

Question Number : 10 Question Id : 97675518198 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the question two statements are given, followed by two conclusions, I and II. You have to consider the statements to be true even if it seems to
be at variance from commonly known facts. You have to decide which of the given conclusions, if any, follows from the given statements.

Statement 1 : All parrots are carrots.
Statement 2 : All carrots are pigeons.

Conclusion I : Some parrots are carrots.
Conclusion II : All parrots are pigeons.

Options :

1. % Only conclusion I follows
2. % Only conclusion II follows
3. ¥ Both I and II follow



4. % Neither [ nor II follows

Question Number : 10 Question Id : 97675518198 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
gy 7 3l Hy R U 8, foraes a1e o1 s 1 iR 11 fRT U § 1 31! 39 i &) Tal AT &, YA 81 I8 IrHaa: 31d 9 3 fie uelta
g1 MU 78 fufg o & 3 fou e feepef & @ 19 a1, afe 18 31, Ot fou e = & @ SR axan 8|

Y 1 gt A TR B |
HY 2: G} TToR HYR & |

f5pY . $ dId TR § |

s 11; guft i IR |
Options :

1. # $Had [T5HY [ 3IERU Hdl §
2. % Had fHY 11 ST HdT &
3. ¢ 1 3IR 11 19T 3ERUT R &

4. % 1 3R A8 11 AR Rl §

Question Number : 11 Question Id : 97675518199 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the question two statements are given, followed by three conclusions, I, IT and III. You have to consider the statements to be true even if it
seems to be at variance from commonly known facts. You have to decide which of the given conclusions, if any, follows from the given
statements.

Statement 1 : All giraffes are jackals.
Statement 2 : No jackals are camels.

Conclusion I : Some camels are jackals.
Conclusion II : All jackals are camels.
Conclusion III : Some giraffes are camels.

Options :

1. # Only conclusion I follows



2. % Only conclusion II follows
3. % Only conclusion III follows

4. ¥ None of the three conclusions follow

Question Number : 11 Question Id : 97675518199 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

gy H 3l Hy R e 8, foraes a1e diF s 111 3R 111 fRT T B 1 311Uh! 37 Y=l &1 gl A1 §, Y &) I8 JHIa: 11d 9 § fie
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Options :

1. % Had (sHY | 38R0 HRT §

2. % Had BN 11 SR Hal §

3. % $Had FTSHY 111 BT SIAR0I G §

4.« dF Freme! & F fopdt &1 +ft SrRur T8t g @

Question Number : 12 Question Id : 97675518200 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Find the wrong number in the following number series:
16, 32, 64, 128, 254

Options :
1. % 32
2. % 64
3. % 128
4.+ 254



Question Number : 12 Question Id : 97675518200 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

faferRad ke g O TTerd ST J1d &y

16, 32, 64, 128, 254
Options :

1. % 32

2. % 64

3. % 128

4.9 254

Question Number : 13 Question Id : 97675518201 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the option that is related to the third number on the same basis as the second number is related to the first number.
13:115::23:7

Options :
1. ¥ 205
2. % 208
3. % 192
4. % 196

Question Number : 13 Question Id : 97675518201 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

39 fAdhed BT 99 B 1 ) et ¥ I3 UHR ¥ Wafdd g o IR O gust TReam ugal Wer 3§ Hefid g |
13:115::23:7?

Options :

1. ¥ 205

2. % 208

3. % 192

4.% 196




Question Number : 14 Question Id : 97675518202 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following Venn diagrams best represents the relationship between brothers, sisters and doctors?
Options :

@0@00(@

4.



Question Number : 14 Question Id : 97675518202 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fafafaa & § o 139 3Rg HIZdl (Fed), Fg41 (Red) iR Rifercis! (Slae) & §iT & Tay P! T 33T STl 82

Options :




Question Number : 15 Question Id : 97675518203 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Manisha walks 5 km east, then turns right and walks 6 km, then turns right and walks 8 km, then turns right and walks 6 km. Where is she now
with respect to her starting position?

Options :

1. # 3 km east
2. % 3 km west
3. % 5 km west
4. # 5km east

Question Number : 15 Question Id : 97675518203 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TS 5 km Jd &1 3R I o, R a8 3R Gl § 3R 6 km T g, fAR T8 3R TSt 8 3R 8 km Ta! §, TR a8 SR gt g 3R 6
km T g1 3T RN fRUTY & Jay H 319 98 Hal 32

Options :

1. % 3kmTd
2.+ 3 km UTEH
3. % 5km UfgH
4. % 5kmUd

Question Number : 16 Question Id : 97675518204 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

Kishore walks 150 m east, then turns north and walks 350 m, then turns to his right and walks 250 m. At the same time, Anil walks 0.4 km east,
then turns to his right and walks 0.4 km. Where is Anil now with respect to the position of Kishore?

Options :

1. # 5 km south
2. ® 5 km north
3. # 750 m north
4. % 750 m south

Question Number : 16 Question Id : 97675518204 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fHRIR 150 m Id B 3R T &, fh ITR B 3R ST § 3R 350 m TAT 7, FR 30T 318 3R ST § 3R 250 m Iadl g | I T,
AT 0.4 km Td H TerdT &, fobR 310l 218 SR TSaT § 3R 0.4 km Tadl 81 fHuR &t fRUfY & Tau o sra 31fAa wgi 82

Options :

1. % 5km GI&or

2. % 5km 3R

3. % 750 m 3R

4. % 750 m GI&T

Question Number : 17 Question Id : 97675518205 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Out of the given options, three are similar in a certain manner. However, one option is NOT like the other three. Select the option which is
different from the rest.

Options :




2 |12
6 | 4
2. ®
3 |16
4|9
3.¢
2 |10
5 | 4
4. %

Question Number : 17 Question Id : 97675518205 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fau e fywedi § § It fAfd a8 § g 81 BTaiies, T fadhey 3 fiF o1 avg 7181 8| 3 fadhey &1 9a &3 o 3 (e g

Options :

1. #®




2 | 12
6 | 4
2. ®
3 |16
419
3.¢
2 |10
5| 4
4. %

Question Number : 18 Question Id : 97675518206 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which answer figure will complete the pattern in the question figure?

JoNy )
oy

A
?
LA ’

Options :




/\
| &\
18

Question Number : 18 Question Id : 97675518206 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

2.¥

S

3. %




AN

Question Number : 19 Question Id : 97675518207 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
From the given answer figures, select the one in which the question figure is hidden/embedded.

Options :




Question Number : 19 Question Id : 97675518207 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

&1 718 IR T T, I THIA T Ig9 o3 forgd U 3iapfa fodiafafga gl

Options :



1. ®

2.¢

3. ®

Question Number : 20 Question Id : 97675518208 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
In the given question figure, four positions of the same dice are given. Which number is at the opposite face of number 8?

Options :
1. %2
2.9 1
3. %3
4. % 4

Question Number : 20 Question Id : 97675518208 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fau 7T Uy Spfa B, U g U & IR 919 foU U § | W6t 8 & A T A R B It ST 82

Options :
1. %2
2.¥ 1
3. %3
4. % 4

General Awareness
Group Number : 2
Group Id : 976755561



Group Maximum Duration : 0

Group Minimum Duration : 0
Show Attended Group? : No
Edit Attended Group? : No
Break time : 0
Group Marks : 20
Is this Group for Examiner? : No

General Awareness

Section Id : 976755991
Section Number : 1

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 20
Number of Questions to be attempted : 20

Section Marks : 20

Enable Mark as Answered Mark for Review and Clear Response : Yes
Sub-Section Number : 1
Sub-Section Id : 9767551146
Question Shuffling Allowed : Yes

Question Number : 21 Question Id : 97675518209 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Maruni, a famous dance form of Sikkim, is performed during

Options :

1. # funerals
2. ¥ festivals
3. % war

4. % childbirth



Question Number : 21 Question Id : 97675518209 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fifdw &1 ue uRig T, T, & GRM fohaT JaT 5
Options :

1. % AP

2. ¢ BRI

3. * &

4. % J4q

Question Number : 22 Question Id : 97675518210 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Makaravilakku festival is associated with which of the following states?
Options :

1. ¥ Kerala

2. # Karnataka

3. % Tamil Nadu

4. ¥ Madhya Pradesh

Question Number : 22 Question Id : 97675518210 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Hoxfqaas digR Hafiad § ¥ fha Iou J 98182

Options :

1. ¥ A

2. % HAlCH
3. % e 1
4. % T YT

Question Number : 23 Question Id : 97675518211 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

As announced in the Budget 2021, was allocated for Covid-19 vaccine by Indian Government.
Options :

1. ¥ Rs 35,000 crores

2. % Rs 20,000 crores

3. # Rs 50,000 crores

4. # Rs 40,000 crores

Question Number : 23 Question Id : 97675518211 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

§oic 2021 T OIVUM & FINR, ® URd WBR gRI DITS-19 IR & g smafed fovar mar a1
Options :

1. ¢ 35,000 RS ST

2. % 20,000 PRIS BUT

3. % 50,000 HUS BUT

4. % 40,000 RS ST

Question Number : 24 Question Id : 97675518212 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is the first bank to introduce ATM in India?
Options :

1. % ICICI Bank

2. % HSBC Bank

3. ¥ HDFC Bank

4. % SBI Bank

Question Number : 24 Question Id : 97675518212 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



fafaied o 4 & 91 d YR H ATM = B+ aTdll Ugal 8 g2
Options :

1. % ICICI 9%

2. ¢ HSBC §&

3. % HDFC S&

4. % SBI &

Question Number : 25 Question Id : 97675518213 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
is the largest phylum of Animalia which includes insects.

Options :

1. ¥ Arthropoda

2. % Mollusca

3. % Echinodermata
4. % Platyhelminthes

Question Number : 25 Question Id : 97675518213 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T T g8 T1 Y AESEEISRUIERE
Options :

1. ¢ giRUIG

2. % HIAEH]

3. % UPIIAISHICT

4. % WIERIHRY

Question Number : 26 Question Id : 97675518214 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
What is the common name of Hansen's disease?



Options :

1. % Chicken pox
2. # Rabies

3. ¥ Leprosy

4. # Plague

Question Number : 26 Question Id : 97675518214 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
S o T BT ATHIRI ATH F1 57
Options :

1. % @I AT

2. % &l

3. IR

4. % T

Question Number : 27 Question Id : 97675518215 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
law states that equal volume of all gases under the same conditions of temperature and pressure contain equal number of

molecules.
Options :

1. # Charles's
2. % Bernoulli's
3. * Boyles's

4. ¥ Avogadro’s

Question Number : 27 Question Id : 97675518215 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

&1 90 HgdT ¢ fob o SR a9 &t qam uRfyferdt & 9l T &t 9H Siad | Su[sf &) 9HH S gt g |

Options :



Question Number : 28 Question Id : 97675518216 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which among the following is the largest tributary of Indus?
Options :

1. # Sutlej

2. # Ravi

3. % Beas

4. ¥ Chenab

Question Number : 28 Question Id : 97675518216 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
frofafad o ¥ o @ Ry @ 998 a8 IuAdl 82
Options :

1. % gdqel

2. % 3

3. %

4. ¥ IJ-d

Question Number : 29 Question Id : 97675518217 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following is the highest peak in the state of Maharashtra as of August 2021?
Options :

1. % Anjaneri



2. # Lohagad
3. ¥ Kalsubai
4. % Mount Everest

Question Number : 29 Question Id : 97675518217 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

FEfRed # ¥ D9 3R 2021 T6 IUAS THBRI & TR HERTY AT DI GG Sl AIct g2
Options :

1. % 31

2. % WIS

3. ¢ HAYSTS

4. % U3¢ TARC

Question Number : 30 Question Id : 97675518218 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which among the following soils is also known as Usara soils?
Options :

1. ¥ Saline

2. % Forest

3. % Arid

4. % Laterite

Question Number : 30 Question Id : 97675518218 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafafad @ 9 forg a1 &1 SR gar & A1 ¥ off ST S 82
Options :
1. ¢ ERt
2. % g1




3. % [h
4. % TS

Question Number : 31 Question Id : 97675518219 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Aga Khan III and Moshin Mulk were involved in founding the Muslim League in
Options :

1. #* 1905

2. % 1912

3. ¥ 1906

4. % 1908

Question Number : 31 Question Id : 97675518219 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

ST @t 111 3R HfRH G o gRe o &1 R § =i U
Options :

1. % 1905

2. % 1912

3. ¥ 1906

4. % 1908

Question Number : 32 Question Id : 97675518220 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Who was defeated in the Battle of Chausa in 1539?
Options :

1. ¥ Humayun

2. % Babur

3. # Akbar

4. # Shah Jahan



Question Number : 32 Question Id : 97675518220 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
1539 #9191 & g H fhgep! gR g3 U
Options :

1. ¥ gAY

2. % dlaR

3. % 3HpAR

4. % QI SI6I

Question Number : 33 Question Id : 97675518221 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
was considered by the British to be the Father of Indian Unrest.

Options :

1. % Gopal Krishna Gokhale
2. ¥ Bal Gangadhar Tilak

3. ¥ Dadabhai Naoroji

4. ® Mahatma Gandhi

Question Number : 33 Question Id : 97675518221 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

P TSI 7 HRATT 3I=ifd &1 foar /T 7|

Options :

1. % YT H0T TRacl
2. ¢ &1 TeR fadd
3. # TIGTHTS RSN
4. % T e



Question Number : 34 Question Id : 97675518222 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The headquarters of World Intellectual Property Organization is located in

Options :

1. # Paris

2. ¥ Geneva
3. # Vienna

4. % New York

Question Number : 34 Question Id : 97675518222 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fay Sfee JueT W3 H1 T=ITed AR gI
Options :

1. % Ry

2. ¢ foHar

3. % fag

4. % gl

Question Number : 35 Question Id : 97675518223 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
No Limits: The Will to Succeed' is the autobiography of

Options :

1. # Vijay Hazare
2. % Usain Bolt

3. % Rafael Nadal
4. ¥ Michael Phelps

Question Number : 35 Question Id : 97675518223 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

1 ferftres:  fad ¢ gt DI AGUT G|
Options :

1. % fqorg golR

2. % JTA Tl

3. ¥ YBIUA d8Td

4. ¥ HIZHA e

Question Number : 36 Question Id : 97675518224 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Who won the Best Playback Singer (Male) award in the 65th Filmfare Award 20207
Options :

1. # Nakash Aziz

2. % Sachet Tandon

3. ¥ Arijit Singh

4. # B Praak

Question Number : 36 Question Id : 97675518224 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

659 IFEhIR RIBR 2020 T TGIT 14 TS (V) BT TRIBR g Siiar?
Options :

1. % THIR i

2. % god ced

3. ¢ 3iRelld Rig

4. % S UH

Question Number : 37 Question Id : 97675518225 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



Part of the Indian Constitution deals with Finance, Property, Contracts and Suits.
Options :

1. % XI

2. % IX

3.% X

4. ¢ XII

Question Number : 37 Question Id : 97675518225 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

YRATT TfIT BT UFT for, Sufy, ey 3R g@wed 3 defid |
Options :

1. %= XI

2. % IX

3. X

4. ¥ XII

Question Number : 38 Question Id : 97675518226 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

31st Constitutional Amendment increased the number of Lok Sabha seats from to 545.
Options :

1. ¥ 525

2. % 520

3. % 532

4. % 535

Question Number : 38 Question Id : 97675518226 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

319 HauTe TRNe A diegHT Hiel o T3 Y TGIPR 545 PR 1|

Options :



1. ¥ 525
2. % 520
3. % 532
4. % 535

Question Number : 39 Question Id : 97675518227 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which among the following will host 2021 Men's ICC T20 World Cup?
Options :

1. ¥ UAE and Oman

2. % England

3. ¥ New Zealand

4. # Australia

Question Number : 39 Question Id : 97675518227 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafeiad & 9 @M 2021 W ICC T20 {3y HT B ASEH B2
Options :

1.  Tgad 3RS 3R (UAE) 3R 3HH

2. % U8

3. % oiidls

4. % Jffern

~

Question Number : 40 Question Id : 97675518228 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Who was the first Indian to win Olympic medals at two consecutive Olympic Games?
Options :

1. # K.D. Jadhav



2. * Sania Mirza
3. #* Saina Nehwal
4. « Sushil Kumar

Question Number : 40 Question Id : 97675518228 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TR & SNicifis Wal # Sicifie uge siia- drd Ugd R $IF 42
Options :

1. % &SI SYq

2. % i forif

3. % GrgAT g

4. ¢ WA $HR

Arithmetic Ability

Group Number : 3

Group Id : 976755562
Group Maximum Duration : 0

Group Minimum Duration : 0

Show Attended Group? : No

Edit Attended Group? : No

Break time : 0

Group Marks : 20

Is this Group for Examiner? : No

Arithmetic Ability
Section Id : 976755992

Section Number : 1
Section type : Online



Mandatory or Optional : Mandatory

Number of Questions : 20

Number of Questions to be attempted : 20

Section Marks : 20

Enable Mark as Answered Mark for Review and Clear Response : Yes
Sub-Section Number : 1
Sub-Section Id : 9767551147
Question Shuffling Allowed : Yes

Question Number : 41 Question Id : 97675518229 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Simplify: 24 + 2x3 - 16 ~ 4 + 20% of 200
Options :

1. ¥ 66

2. % 72

3. % 24

4. % 84

Question Number : 41 Question Id : 97675518229 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
IRATPd BY: 24 +2x3 - 16+ 4 + 20% of 200
Options :

1. ¥ 66

2.% 72

3.% 24

4. % 84

Question Number : 42 Question Id : 97675518230 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



Which of the following digits are not divisible by 4?
Options :
1. % 432
2.9 342
3. % 456
4. % 680

Question Number : 42 Question Id : 97675518230 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fFrafaRad o & &F 91 3id 4 I faursa 781 82
Options :

1. % 432

2.9 342

3. % 456

4. % 680

Question Number : 43 Question Id : 97675518231 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Solve: 12 +12+6 - 12% of 100

Options :

1.¥2

2. %20

3. % 12

4. % 6

Question Number : 43 Question Id : 97675518231 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
BA B 12 + 1246 - 12% of 100
Options :



1.¥2
2.% 20
3. % 12
4. % 6

Question Number : 44 Question Id : 97675518232 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The HCF of two numbers is 12. What is the LCM of the two numbers if their product is 864?
Options :

1. #* 60

2. % 108

3. % 48

4. ¥ 72

Question Number : 44 Question Id : 97675518232 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

3l TRttt o1 HETH JHIAAS 12 g1 Ife I90T UM% 864 §, Al ol TReeil &1 agaH IS 341 82
Options :

1. % 60

2. % 108

3. % 48

4. ¢ 72

Question Number : 45 Question Id : 97675518233 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Three church bells toll at intervals of 15, 20 and 10 seconds respectively. What is the time interval at which all the three bells toll together?
Options :

1. # 3 minute

2. % 2 minute



3.4 | min

4. % 5 minute

Question Number : 45 Question Id : 97675518233 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T B! i °fed] AT 15, 20 3R 10 Vb b dRTd WR Ioldl ¢ | TH dRTd 1 g Forg R 41 dfedr ue ary Jeivie
Options :

1. % 3 foFe

2. % 2 e

3.4 1 min

4. % 5TAC

Question Number : 46 Question Id : 97675518234 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The average of 4 numbers is 20. If the number 10 is also included, what is the new average?
Options :

1. % 15

2. % 12

3.9 18

4. % 16

Question Number : 46 Question Id : 97675518234 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

4 TTafl T 3R 20 © | Afe T 10 Hi =it gl &, dl = 3 o1 62
Options :

1. % 15

2. % 12

3.9 18



4. % 16

Question Number : 47 Question Id : 97675518235 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

John gave all of his candies to Neil and Harry in the ratio 1 : 3. What percent of the candies was given to Harry?
Options :

1. * 57%

2. % 60%

3. ¥ 75%

4. % 70%

Question Number : 47 Question Id : 97675518235 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

S A 30 Tt HSt AT IR BA BT 1 : 3 P T W ¢ < HaT Bl b1 ufc=rd g3t &1 faam war Ut
Options :

1. * 57%

2. % 60%

3. ¥ 75%

4. %= 70%

Question Number : 48 Question Id : 97675518236 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In a committee 40% members have less than 5 years of membership. 20 members have exactly 5 years of membership which is 80% less than the
number of members having more than 5 years. How many members have less than 5 years of membership?

Options :
1. ¥ 80
2. % 40
3. % 120
4. %= 100



Question Number : 48 Question Id : 97675518236 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TH T T 40% Tl ] el 5 T8 I HH g | 20 el ! e d] [depd 5 T8 1 g o 5 a4 § 31T arel Taxd! &1 T F 80%
FUE| 5TV Y HH S YT aTdl [ G &7

Options :

1. ¥ 80

2. % 40

3. % 120

4. % 100

Question Number : 49 Question Id : 97675518237 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

An art piece was sold at Rs 2700 after a discount of 10%. What was the marked price on the item?
Options :

1. * Rs 1800

2. ¥ Rs 3000

3. ¥ Rs 2100

4. % Rs 2400

Question Number : 49 Question Id : 97675518237 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

10% 1 B b dIg Udh Dl axg Dl 2700 TUT T &1 77| I WR Faifed Ged 1 41
Options :

1. % 1800 %UU

2. % 3000 %UC¢

3. % 21004

4. % 2400>UU




Question Number : 50 Question Id : 97675518238 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Two years ago, the age of Adil and Mustafa was in the ratio 2 : 3. Adil is now 10 years old. What will their age ratio be 3 years later?
Options :

1. * 11:14

2. % 13:15

3.% 11:15

4.9 13:17

Question Number : 50 Question Id : 97675518238 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

& oY Ugd, e 3R G &1 3 2 : 3 & urd & 2| onfed 3@ 10 T w131 3 T §1g IHT 31 SIUTd FT gH?
Options :

1. % 11:14

2.%13:15

3.% 11:15

4.9 13:17

Question Number : 51 Question Id : 97675518239 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The value of three types of gold are in the ratio 2 : 1 : 3. If their worth increases by 10%, 20% and 5% in the market respectively, what will be the
new ratio of their worth?

Options :

1.¥ 44 :24:63
2. % 22:24:63
3.%22:24:33
4. % 44:24:32

Question Number : 51 Question Id : 97675518239 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T UPRF I BT 2 : 1: 3P U A g1 IS IR & I HIAd B HHT: 10%, 20% 3R 5% B IfG BIa o, Al 3% Hed BT 741
S{UTd &1 gITI?

Options :

1.9 44 :24:63

2. % 22:24:63

3. % 22:24:33

4, % 44 :24:32

Question Number : 52 Question Id : 97675518240 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

P and Q stand 300 m apart from each other. They start running towards each other at speeds of 12m/s and 18m/s respectively. At what distance
from the starting point of P do they meet?

Options :

1. ® 100 m
2.9 120 m
3. % 180 m
4. % 200 m

Question Number : 52 Question Id : 97675518240 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

P 3R Q Udh G ¥ 300 m B! g IR WS | 4 U 12 my/s 3R 18 m/s DI T T Th AR BT 3R G L= HRd ¢ | P &b Y3 fdg 4 d
forg gt R fiera 82

Options :

1. % 100m

2.9 120m

3. % 180m

4. % 200m




Question Number : 53 Question Id : 97675518241 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Seema travels from Bombay to Pune at an average speed of 40 km/h and on return she was travelling at a speed of 60 km/h. What was her
average speed in the entire journey?

Options :

1. ® 50 km/h
2. % 54 km/h
3. % 36km/h
4. ¥ 48km/h

Question Number : 53 Question Id : 97675518241 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

@ﬂmgﬁ@rgﬁrwmm/hﬁaﬁwwﬁrﬁwm?ﬁ%shvwwaﬁokm/hﬁiﬂ%r@rwmwzmqﬁwﬁwaﬁaﬁwnﬁr
1 ot

Options :

1. % 50 km/h

2. % 54 km/h

3. % 36km/h

4. ¥ 48km/h

Question Number : 54 Question Id : 97675518242 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Ram and Mohan can complete a work in 18 days and 24 days respectively. They started working together alternatively starting with Mohan. In
how many days the work will be completed?

Options :
1. ¥ 21
2. %20
3. %25
4. % 18



Question Number : 54 Question Id : 97675518242 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

I 3R AT HH: 18 A1 3R 24 f&1 H U 10 T R Tobd 81 HigH A & b I8 fAdheud: U W1y BT HRA1 Y& R 3T |
®H fpaq fel & R gm

Options :

1. ¢ 21

2. % 20

3. % 25

4. % 18

Question Number : 55 Question Id : 97675518243 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A cylindrical rice storage box has diameter 50 cm and height 56 cm. What is the maximum quantity of rice that can be stored in the container?
[1000 cu cm = 1kg]

Options :

1. ¥ 110 kg
2. % 11kg
3. % 1100 kg
4. % 100 kg

Question Number : 55 Question Id : 97675518243 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Ush SAIBR Iad HSRUT S1dT BT S 50 cm 3R HITS 56 cm | TG D1 b dH AT 1 g o U H Tufed &1 ol Jobail 82 [1000
cucm = 1 kg]

Options :
1. ¥ 110 kg
2. % 11 kg
3. % 1100 kg



4. % 100 kg

Question Number : 56 Question Id : 97675518244 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Inside a cylinder of height 40 cm and radius 21 cm three spherical balls of radius 7 cm are kept. What is the volume of the empty space inside the
cylinder?

Options :

1. # 4500 cu cm
2. % 5000 cu cm
3. % 51120 cu cm
4. % 51128 cu cm

Question Number : 56 Question Id : 97675518244 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

40cm6'>‘_t|'|§3‘ﬁ?2l cmm$wm$m7cmm$?ﬁq‘ﬂwaﬁ@m%|W%WWWWWW%‘?
Options :

1. % 4500 cu cm

2. % 5000 cu cm

3. % 51120 cu cm

4.+ 51128 cucm

Question Number : 57 Question Id : 97675518245 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The table gives the data of the people living in a residential area.
What approximate percent of males is below the age of 40?



AGE
GENDER
220 <40 =40 =60 =60
MEN 30 40 20
WOMEN 40 48 25
TOTAL 70 28 a5
Options :
1. ¥ 33%
2. % 31%
3. % 35%
4. % 40%

Question Number : 57 Question Id : 97675518245 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
qIRIDPT T ST &3 H 3§ aTet QlTl bl Sl eIl 5
Q] BT T U 1 8 S 40 T 4 $H 3G & 82

- $Tg

=20=<40 =

gyl 30
fgarsi 40

Cd) 70
Options :
1. ¥ 33%
2. % 31%
3. % 35%
4. % 40%

r

60 =60

20

25

(&8

45

Question Number : 58 Question Id : 97675518246 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

The following pie chart shows the distribution of tourists from different nations in India in the year 2017.
The number of tourists from Germany is what percent more than the number of tourists from the nation with the least number of tourists?

Number Of Tourists

Options :
1. % 20%
2. % 100%
3. % 2%
4. ¥ 200%

Question Number : 58 Question Id : 97675518246 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fafefad s 1c oy 2017 § YRA H fafts =1 & wded! o fadror &1 g=iiar 3|
SHA § qfed! @ We BT foa-T Ufa=Id, YraaH W] &1 T & 91Y G/ H J Yded! o) Te ¥ e g2
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Options :
1. % 20%
2. % 100%
3. % 2%
4. v 200%

Question Number : 59 Question Id : 97675518247 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The graph below shows the age frequency distribution of the students in a class.
What percent of the students are 24 years of age?



4.5

3.5

o)
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0.5

24 25 27 30
Age

Options :
1. * 10%
2. % 40%
3. ¥ 25%
4. * 20%

Question Number : 59 Question Id : 97675518247 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

= o T U U e B B I 31 Mgy & ARy Y a2
24 I8 B 3 P foba ufererd BE &2



3.5 3 : /"ﬂﬁ \\ 3

15

0.5

24 25 27 30

Options :
1. * 10%
2. % 40%
3. ¥ 25%
4. % 20%

Question Number : 60 Question Id : 97675518248 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The following graph shows the number of students in a class who enrolled for different elective subjects.
If 20% of the students were enrolled in English, how many of the students did not enrol for any of the subjects?
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Options :
1.¥9
2. %10
3. % 12
4. % 8

Question Number : 60 Question Id : 97675518248 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Fofefad s e 9 & S &1 G Bl G & forg i fafie dobfeles fawal & forw arf@en ferar )
gl 20% BT DT St H AT fobar a1 o1, 1 fobe= 1l A Tt Hi fawar & fere arfaet &t feram a2
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Options :
1.¥9
2. %10
3.% 12
4. % 8
General English
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Question Number : 61 Question Id : 97675518249 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The sentence below has been divided into three parts. Select the part of the sentence that has an error. If the sentence has no error, select the
option 'No Error'.

Foreigners, especially / Greeks, began to dominating / the country.
Options :

1. * Foreigners, especially

2. % Greeks, began to dominating

3. * the country.

4. % No error

Question Number : 61 Question Id : 97675518249 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The sentence below has been divided into three parts. Select the part of the sentence that has an error. If the sentence has no error, select the



option 'No Error'.

Foreigners, especially / Greeks, began to dominating / the country.
Options :

1. #® Foreigners, especially

2. ¥ Greeks, began to dominating

3. # the country.

4. ® No error

Question Number : 62 Question Id : 97675518250 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The sentence below has been divided into three parts. Select the part of the sentence that has an error. If the sentence has no error, select the
option 'No Error'.

His commitment on national integrity / in the newly independent country / was total and uncompromising.
Options :

1. ¥ His commitment on national integrity

2. % in the newly independent country

3. % was total and uncompromising.

4. ® No error

Question Number : 62 Question Id : 97675518250 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The sentence below has been divided into three parts. Select the part of the sentence that has an error. If the sentence has no error, select the
option 'No Error'.

His commitment on national integrity / in the newly independent country / was total and uncompromising.
Options :

1. ¥ His commitment on national integrity

2. # in the newly independent country

3. % was total and uncompromising.

4. % No error



Question Number : 63 Question Id : 97675518251 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate 'one word ' for the expression given below.

A state, period, or place of isolation in which people or animals that have arrived from elsewhere or been exposed to infectious or contagious
disease are placed.

Options :

1. # Integrate
2. ¥ Quarantine
3. # Combine

4. # Turpentine

Question Number : 63 Question Id : 97675518251 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate 'one word ' for the expression given below.

A state, period, or place of isolation in which people or animals that have arrived from elsewhere or been exposed to infectious or contagious
disease are placed.

Options :

1. # Integrate
2. % Quarantine
3. # Combine

4. ® Turpentine

Question Number : 64 Question Id : 97675518252 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate 'one word ' for the expression given below.

"to mix up someone's mind or ideas, or to make something difficult to understand"
Options :



1. # bumbershoots
2. % bumpkinish
3. #* bumble

4. ¥ bumfuzzle

Question Number : 64 Question Id : 97675518252 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate 'one word ' for the expression given below.

"to mix up someone's mind or ideas, or to make something difficult to understand"
Options :

1. #® bumbershoots

2. # bumpkinish

3. ¥ bumble

4. ¥ bumfuzzle

Question Number : 65 Question Id : 97675518253 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Fill in the blank with the appropriate word.

It struck her that the short length of the broom made the sweepers almost double down from the waist and retain that posture for hours on end all
their working life, leading to spinal pain.

Options :

1. ¥ chronic

2. # epidemic

3. % viral

4. ® rogue

Question Number : 65 Question Id : 97675518253 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



Fill in the blank with the appropriate word.

It struck her that the short length of the broom made the sweepers almost double down from the waist and retain that posture for hours on end all
their working life, leading to spinal pain.

Options :

1. % chronic

2. % epidemic

3. % viral

4. % rogue

Question Number : 66 Question Id : 97675518254 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Fill in the blank with the appropriate word.

I did have about how the book would be received, particularly as there had been a misogynistic controversy over the protagonist.
Options :

1. # agastopia

2. # Yarborough

3. % apprehensions

4. % coalition

Question Number : 66 Question Id : 97675518254 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Fill in the blank with the appropriate word.

I did have about how the book would be received, particularly as there had been a misogynistic controversy over the protagonist.
Options :

1. # agastopia

2. # Yarborough

3. % apprehensions

4. % coalition



Question Number : 67 Question Id : 97675518255 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Some parts of a sentence have been jumbled up, and labelled P, Q, R and S. Select the option that gives the correct sequence in which these parts
can be rearranged to form a meaningful and grammatically correct sentence.

It was

P: after 6 hours of chase

Q: quite challenging but

R: as he had not

S: the police caught and arrested him
obeyed the law.

Options :

1. ¥ SPQR
2. % QPSR
3. ¥ PSRQ
4. % RQPS

Question Number : 67 Question Id : 97675518255 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Some parts of a sentence have been jumbled up, and labelled P, Q, R and S. Select the option that gives the correct sequence in which these parts
can be rearranged to form a meaningful and grammatically correct sentence.

It was

P: after 6 hours of chase

Q: quite challenging but

R: as he had not

S: the police caught and arrested him
obeyed the law.

Options :

1. # SPQR
2. ¥ QPSR
3. ¥ PSRQ



4. % RQPS

Question Number : 68 Question Id : 97675518256 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

Some parts of a sentence have been jumbled up, and labelled P, Q, R and S. Select the option that gives the correct sequence in which these parts
can be rearranged to form a meaningful and grammatically correct sentence.

Every adult

P: a gang of minors abusing their classmate, it is time to
Q: but when we read about a youngster stabbed for his mobile phone or
R: generation feels some inadequacy in dealing with

S: the next generation,

stop and think.

Options :

1. ¥ RSQP

2. % PQRS

3. % SQPR

4. % SQRP

Question Number : 68 Question Id : 97675518256 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Some parts of a sentence have been jumbled up, and labelled P, Q, R and S. Select the option that gives the correct sequence in which these parts
can be rearranged to form a meaningful and grammatically correct sentence.

Every adult

P: a gang of minors abusing their classmate, it is time to

Q: but when we read about a youngster stabbed for his mobile phone or
R: generation feels some inadequacy in dealing with

S: the next generation,

stop and think.

Options :
1. ¥ RSQP
2. % PQRS



3. % SQPR
4. % SQRP

Question Number : 69 Question Id : 97675518257 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the word that is the opposite meaning (ANTONYM) to the word given below.

"Lamentable"
Options :

1. ¥ Dependable
2. % Detestable
3. ¥ Desirable
4. % Unpalatable

Question Number : 69 Question Id : 97675518257 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the word that is the opposite meaning (ANTONYM) to the word given below.

"Lamentable"
Options :

1. # Dependable
2. % Detestable
3. % Desirable
4. % Unpalatable

Question Number : 70 Question Id : 97675518258 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the word that is closest in meaning (SYNONYM) to the word given below.

Reconnaissance



Options :

1. # Reconcile
2. # (Cessation
3. # Coagulation
4. ¥ Survey

Question Number : 70 Question Id : 97675518258 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the word that is closest in meaning (SYNONYM) to the word given below.

Reconnaissance
Options :

1. # Reconcile
2. # (Cessation
3. ¥ Coagulation
4. ¥ Survey

Question Number : 71 Question Id : 97675518259 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Four words are given, out of which only one word is spelt correctly. Choose the correctly spelt word.
Options :

1. # PARAFERNELIA

2. # PARAFERNALIA

3. % PARAPHERNALIA

4. ¥ PHARAFERNELIA

Question Number : 71 Question Id : 97675518259 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Four words are given, out of which only one word is spelt correctly. Choose the correctly spelt word.



Options :

1. # PARAFERNELIA
2. # PARAFERNALIA
3. ¥ PARAPHERNALIA
4. ¥ PHARAFERNELIA

Question Number : 72 Question Id : 97675518260 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Four words are given, out of which only one word is spelt correctly. Choose the correctly spelt word.
Options :

1. ¥ MANOEUVRE

2. ¥ MANUVERE

3. ¥ MANOUVRE

4. ¥ MANOUVER

Question Number : 72 Question Id : 97675518260 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Four words are given, out of which only one word is spelt correctly. Choose the correctly spelt word.
Options :

1. ¥ MANOEUVRE

2. ¥ MANUVERE

3. # MANOUVRE

4. % MANOUVER

Question Number : 73 Question Id : 97675518261 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate meaning of the given idiom.

"Let the cat out of the bag"



Options :

1. #® To have an upset stomach

2. % To reveal a secret

3. # To discuss an important matter

4. % To be ready for a discussion

Question Number : 73 Question Id : 97675518261 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate meaning of the given idiom.

"Let the cat out of the bag"

Options :

1. # To have an upset stomach

2. ¥ To reveal a secret

3. # To discuss an important matter

4. ® To be ready for a discussion

Question Number : 74 Question Id : 97675518262 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate meaning of the given idiom.

"That's the last straw"

Options :

1. # Last chance to do something
2. % The patience has run out

3. # Getting out of options

4. # Straw is a metaphor of ideas of life

Question Number : 74 Question Id : 97675518262 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



Select the most appropriate meaning of the given idiom.

"That's the last straw"

Options :

1. # Last chance to do something
2. % The patience has run out

3. % Getting out of options

4. % Straw is a metaphor of ideas of life

Question Number : 75 Question Id : 97675518263 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate 'one word ' for the expression given below.

"to completely satisfy yourself or a need, especially with food or pleasure, so that you could not have any more"
Options :

1. ¥ satiate

2. % nauseate

3. # conciliate

4. % elucidate

Question Number : 75 Question Id : 97675518263 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate 'one word ' for the expression given below.

"to completely satisfy yourself or a need, especially with food or pleasure, so that you could not have any more"
Options :

1. ¥ satiate

2. ® nauseate

3. # conciliate

4, % elucidate

Sub-Section Number : 2



Sub-Section Id : 9767551149
Question Shuffling Allowed : Yes

Question Id : 97675518264 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No

Question Numbers : (76 to 80)

A passage is given with 5 questions following it. Read the passage carefully and choose the best answer to each question out of the four
alternatives.

In 1919 the British made a new law named the Rowlatt Act. Under this law, the government got many powers, including the ability to arrest
people and keep them in prisons without a trial. They also obtained the power to stop newspapers from reporting and printing news. The people
called this act the Black Act. Indians protested against this law in many places.

The positive impact of reform was seriously undermined in 1919 by the Rowlatt Act, named after the recommendations made the previous year
to the Imperial Legislative Council by the Rowlatt Commission, which had been appointed to investigate "seditious conspiracy." The Rowlatt
Act, also known as the Black Act, vested the Viceroy's government with extraordinary powers to quell sedition by silencing the press, detaining
political activists without trial, and arresting any individuals suspected of sedition or treason without a warrant. In protest, a nationwide cessation
of work (hartal) was called, marking the beginning of widespread, although not nationwide, popular discontent.

The agitation reached a peak in Amritsar (Punjab, India). In Amritsar, on 13th April 1919, about 10,000 Indians had assembled to protest against
the Rowlatt Act. The British military commander, Brigadier-General Reginald Dyer ordered his troops to fire at the civilians without any
warning. The troops fired 1,650 times. Some historians estimate that the troops killed 379 and injured about 1,137 people. This incident came to
be known as the Jallianwala Bagh massacre. With this killing of innocent people, the British lost the trust of the Indian people. Congress forced
Britishers to investigate massacre of Jallianwala later, a tehkikat committee was made by congress.

Sub questions

Question Number : 76 Question Id : 97675518265 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The Rowlatt Act was also called
Options :

1. # The dog's act

2. ¥ The black act

3. * The full stop

4. *= The British reform




Question Number : 77 Question Id : 97675518266 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What made the Indians lose trust on the Britishers ?
Options :

1. # The Rowlatt Act

2. % The Jallianwala Bagh Massacre

3. # The Seditious conspiracy

4. % The powers of the government

Question Number : 78 Question Id : 97675518267 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The powers of Rowlatt act had the power to:
A: detain political activists without trial

B: fire at civilians

C: silence the press

Options :

1. %

Only A

2.% Aand C

3. % Band C

4. % A BandC

Question Number : 79 Question Id : 97675518268 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What is the meaning of seditious as derived from the passage?
Options :

1. ¥ Making loud promises and not fulfilling them.

2. # Quietly making decisions that would affect a larger group.
3. ¥ Causing people to rebel against the authority of a state.

4. % May or may not having a reason to respond.



Question Number : 80 Question Id : 97675518269 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Read the below mention statements from the passage and choose the correct option.

A: In Jallianwala Bagh Massacre the troops killed 379 and injured about 1,137 people.
B: In 1919 the British made a new law named the Rowlatt Act.

Options :

1. # A happened before B

2. % B was a consequence of A
3. % A happened as a result of B

4. % A and B have no relation

Question Id : 97675518264 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No

Question Numbers : (76 to 80)

A passage is given with 5 questions following it. Read the passage carefully and choose the best answer to each question out of the four
alternatives.

In 1919 the British made a new law named the Rowlatt Act. Under this law, the government got many powers, including the ability to arrest
people and keep them in prisons without a trial. They also obtained the power to stop newspapers from reporting and printing news. The people
called this act the Black Act. Indians protested against this law in many places.

The positive impact of reform was seriously undermined in 1919 by the Rowlatt Act, named after the recommendations made the previous year
to the Imperial Legislative Council by the Rowlatt Commission, which had been appointed to investigate "seditious conspiracy." The Rowlatt
Act, also known as the Black Act, vested the Viceroy's government with extraordinary powers to quell sedition by silencing the press, detaining
political activists without trial, and arresting any individuals suspected of sedition or treason without a warrant. In protest, a nationwide cessation
of work (hartal) was called, marking the beginning of widespread, although not nationwide, popular discontent.

The agitation reached a peak in Amritsar (Punjab, India). In Amritsar, on 13th April 1919, about 10,000 Indians had assembled to protest against
the Rowlatt Act. The British military commander, Brigadier-General Reginald Dyer ordered his troops to fire at the civilians without any
warning. The troops fired 1,650 times. Some historians estimate that the troops killed 379 and injured about 1,137 people. This incident came to
be known as the Jallianwala Bagh massacre. With this killing of innocent people, the British lost the trust of the Indian people. Congress forced
Britishers to investigate massacre of Jallianwala later, a tehkikat committee was made by congress.

Sub questions

Question Number : 76 Question Id : 97675518265 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The Rowlatt Act was also called
Options :

1. # The dog's act

2. ¥ The black act

3. % The full stop

4. * The British reform

Question Number : 77 Question Id : 97675518266 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What made the Indians lose trust on the Britishers ?
Options :

1. # The Rowlatt Act

2. ¥ The Jallianwala Bagh Massacre

3. % The Seditious conspiracy

4. # The powers of the government

Question Number : 78 Question Id : 97675518267 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The powers of Rowlatt act had the power to:
A: detain political activists without trial

B: fire at civilians

C: silence the press

Options :

1. %

Only A

2.% Aand C

3. % Band C

4. % A,BandC



Question Number : 79 Question Id : 97675518268 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What is the meaning of seditious as derived from the passage?
Options :

1. # Making loud promises and not fulfilling them.

2. # Quietly making decisions that would affect a larger group.
3. % Causing people to rebel against the authority of a state.

4. % May or may not having a reason to respond.

Question Number : 80 Question Id : 97675518269 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Read the below mention statements from the passage and choose the correct option.

A: In Jallianwala Bagh Massacre the troops killed 379 and injured about 1,137 people.
B: In 1919 the British made a new law named the Rowlatt Act.

Options :

1. * A happened before B

2. * B was a consequence of A
3. ¥ A happened as a result of B

4. % A and B have no relation
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Question Number : 81 Question Id : 97675518270 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fraferRed Uy o, IR fadbedl § 9, 34 fddbed &1 7g &1 oif 4T T Weg & fo1T g1 Igsiiie Targ & 995 &1 fddcd 8|

Options :

1. % 9= &7 foero
2. % =1 3R fa=Ror

3.« g o fo=Rur A aral

4. % faeRurg e A

Question Number : 81 Question Id : 97675518270 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafeied us H, IR fasedl d 9, 39 fddhed &1 9= 1 S faU 1T Teg o foT He! agsiife 9oy & faug &1 fdbe gl



Options :

1. % A &1 fomR
2. % = 3R fa=Ro
3. ¢ 3= H faaRur A aren
4. % foeRurg = A

Question Number : 82 Question Id : 97675518271 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Fofed Uy &, 9R fawed! § 9, 39 fawed &1 997 $X Sl SUWH ¥ 4 Reg $1 e faded 51|
Options :

1. % RSP

2. % 3RIYAT

3. % Fsgr

4. % I

Question Number : 82 Question Id : 97675518271 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFafafad vy A, IR e § T, 39 fawey &1 79 B ot ST O - s BT ot [Abed 8|
Options :

1. % NP

2. % 3RIYAT

3. % sSgr

4. % g

Question Number : 83 Question Id : 97675518272 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFafcRad U |, IR fddeul 7 ¥, 39 ey &1 999 B3 ol U0d I 8§ e, &1 Yol [ddhed ol

Options :




1. ¢ [9H1S
2. % gAY
3. % 94
4. % RUg

Question Number : 83 Question Id : 97675518272 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Fofafed oy o, IR fawedl & 9, 39 f9aed &1 99+ &< off T ¥ 4 RMeg &1 95! [dded 51|
Options :

1. ¢ {913

2. % HHY

3. % Y4d

4. % fRUg

Question Number : 84 Question Id : 97675518273 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

faferiad Uy & IR fowedl & ¥, 39 fdh ey &1 9g9 &3 ol 2T 7Y Yeg &1 did U g
=R

Options :
1. % foy
2. ¥ HYD
3. % &I
4. % TETH

Question Number : 84 Question Id : 97675518273 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fafafed vy 3, IR foecdl 7 9, 39 ey &1 987 B o faT U e T IodH =0 8
Ty



Options :
1. * fay
2. ¥ HR[D
3. % Afgep
4. % Tgd

Question Number : 85 Question Id : 97675518274 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafafad uy o, aR fowedl § 9, 39 fawey &1 999 &3 ol Y ek &1 Ta! [dbed 7
Options :

1. % i

2. % RIYTEF

3. ¢ Hgyftuf

4. % gEYTHHT

Question Number : 85 Question Id : 97675518274 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafaiad us o, TR fawet § 9, 39 fawey &1 7o &L Sl Y Ueg &1 Gal fabea 7
Options :

1. % QT

2. % Qe

3. ¥ FgyfHoR

4. % gy

Question Number : 86 Question Id : 97675518275 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Fafafad uy 7, IR e & 3, 39 9wy 1 T B 9t fau 70 Wsg & JArRI 2o &1 fapey 781 B
a1 -




Options :
1. % 3d
2. % TP
3. % dod
4, ¢ 3{Hd

Question Number : 86 Question Id : 97675518275 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Fofafed vy H, 9R fawed! § 9, 39 fawed &1 997 3 Sl U 1T Xeg & FHHIT 2eg; 31 fadbed 81 5
CINE

Options :

1. % d

2. % dIgPpT

3. % d&d

4, ¢ 3{Hqd

Question Number : 87 Question Id : 97675518276 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
ﬁaﬁr@@au&rﬁ,wﬁwﬁﬁ@r,ww fqhed BT 9 B Sl faU U Xea-JH & 31 &7 98! fadwed gl
ST SR 3fg

Options :

1. % HU7 3R MY
2. % F AR TS
3. ¢ U AR TS
4. % HYT 3R 3T

Question Number : 87 Question Id : 97675518276 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



ﬁaﬁvrshf?au%rﬁ,%rr?ﬁmlﬁffﬁ,wﬁﬁwwwﬁ@ﬁwqu%aﬁmﬁ%w@
ST AR 3{

Options :

1. % U7 3R Ty
2. % AR TS
3. ¢ U AR TS
4. % HYT 3R 3T

Question Number : 88 Question Id : 97675518277 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Fafifad uy |, IR fawddl | 9, 39 Ta! [ddhed &1 I99 &SIl aIqdi=N & 1ol U eg ol [ddhed 8l |
Sl BSTE I UTe &l

Options :

1. % 3

2. ¥ gAY
3. % qdd
4. % fRd®

Question Number : 88 Question Id : 97675518277 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafRad Uy A, IR fasedl # 4, 39 U5l fdded &1 I B3 Sl IRl o o7t Uh Reg; o1 fddhed |
S HSTE I U &

Options :

1. % 3

2. ¥ GaH
3. # qddh
4. % fRYP

Question Number : 89 Question Id : 97675518278 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

fFrofefed vy &, IR fadedl § 9, 39 fasey o1 99 o3 ol f3u Te a1e & fore gfy o Na o1 Je 31 fddved 5|
TR 3t Aehl o STt af H a1 oR @sie o |

Options :

1. ¢ Hard
2. % Hagrd
3. % fand
4. % fgemd

Question Number : 89 Question Id : 97675518278 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fraffed Uy & aR fawedl § ¥, 39 fadmed &1 9g &3 off fU MU a1 & forg 3 & N &1 ga o1 fawed g |
3R 3t Aiht e Sl at & =1 R w_ie @ |

Options :

1. ¢ Hapard

2. % Hagrd

3. % fand

4. % fgemd

Question Number : 90 Question Id : 97675518279 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFafafad uy 7, IR e & T, 39 f9wed &1 Tga B &l 3T 77T 919 & ol Uel & U o1 o 331 f[abeu 5|
319 H B! HTH B b 3!

Options :

1. % radiys®

2. ¢ QuidrEa®

R REIGED

4. % IRYdD




Question Number : 90 Question Id : 97675518279 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFrafefed vy &, IR fasedl § 9, 39 fased o1 997 63 ol f3U 1T a1e & fore ual & W &1 Yo 31 fasheu g
3§ T BTH! HTH TR P! g
Options :

1. % raTdiys®
2. ¢ QUlARIIdS®
3. % TRTfaede
4. % RYIdD

Question Number : 91 Question Id : 97675518280 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fafefed gy o, IR fawedl 7 9, 39 fdwed &1 997 & Il Tal arag Ye &l f[dehed gl
9% g8 HTH TR 747 3R XMW &1 e S|

Options :

1. % fy g

2. ¢ Agad a1

3. % FYYyaE® g

4. % A AR

Question Number : 91 Question Id : 97675518280 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

ol gy o, IR fawed! 7 9, 39 [dded &1 997 &< ol el aT e B fadbed gl
98 I HTH TR 7T 3R JMH DI dIe 7|

Options :

1. % fog arey

2. ¢ Ggad IR




3. % fANYyarIS ar
4. % IR IR

Question Number : 92 Question Id : 97675518281 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafafad uy 4, aR fawed! & O, 39 fdeed &1 99 &< Sl fav1 g god a1 &1 Hal fadheu gl
Options :

1. ¢ Y A Pgl, " il 7d B, AR I I

2. % 1Y A D,  foiar gd &R, TR i 9|

3. % iy A dhel  far ad s, TR 91y 7|

4. % 1Y - Hgl o foidl 7d B AR 1Y 9|

Question Number : 92 Question Id : 97675518281 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

faferiRad Uy &, IR fawedl O 4, 39 fawed &1 o+ &< SN faR1 foig god a1 &1 Aot fdded gl |
Options :

1. ¢ Y A Pgl, " foidl ad &R, AR 1 )"

2. % iy A Hal,  fiar 7d e, W A1y 99|

3. % g1y A dhel g ar gd &, TR 91y Id)|

4. % Y gl q il 7d DR TR 1Y 9|

Question Number : 93 Question Id : 97675518282 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fraffed oy & aR fawedl § 9, 39 fadmed &1 7a &1 off fU T geTear &1 Tet o aran fawey g |
SO ST -

Options :

1. ¥ ST

2. % HGG DAl




3. % R A O
4, % GRITYGERA

Question Number : 93 Question Id : 97675518282 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fraffaa uy & IR fawe # 9, 39 fawen &1 7 o3 off U 7T geTer o1 98t o aran fawe 8
BolHd d-TT -

Options :

1. & STl

2. % Hgq dhAl

3. % GRAM WA

4. % QRITYURAT

Question Number : 94 Question Id : 97675518283 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fraforfaa uy & R fawe # ¥, 39 fawen &1 7 &3 off U 7T Yerear &1 T8t o aran faweu g
B1Y 1 g1 - YT -
Options :

1. % 309 I H HAT
2. ¢ AT SYBR BT
3. % & dMr

4. % HqETET

Question Number : 94 Question Id : 97675518283 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafaRed Uy & IR fawedl § 9, 39 fadmed &1 7a &< off [T T ggTar &1 Te 3 aran fawed |
B1Y 1 g1 - YT -
Options :



1. % 304 g H HAT
2. ¢ TAT {YBR BT
3. % UdHEl

4. % TR

Question Number : 95 Question Id : 97675518284 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fofiad uy & IR fowedl ° T, 39 ey &1 Ta &3 ot <1 71 dipifad &1 Tet 3 arar ideey g
30T B i IMHM -
Options :

1. % G b W Bl

2. % 3UHT BIOGl HReb Al

3. ¢ 3{OFT R o QR R Bl &
4. % 3O 9¥ I g GHA DR G

Question Number : 95 Question Id : 97675518284 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

foaiad Uy & IR fomeal & 9, 39 foey &1 Taa &1 ot <1 71 dipifad &1 Tet 3 arar ey g
3T B i IMHM -
Options :

1. % GW & W B

2. % 3O BIGT HRb ]
3. ¢ U TR T QR H g1 8
4. % U X I g GHA HR I/

Sub-Section Number : 2
Sub-Section Id : 9767551151
Question Shuffling Allowed : Yes

Question Id : 97675518285 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension



Questions : No

Question Numbers : (96 to 100)

9 fou T TR o 91 5 Uy AU TR § | 39 TRl ATHgad g 3R 9R [dwedl B ¥ Udd Uy HT 9arad SR g |

e Faa aft S & ST Sitad &1 U 3= Sl §, O fob I Achd Tl & A1y 1T T Y ST 81| Td| I TG TR e i o
Tt fh URTS 1 S IqUS HT A6 d HTa & a9 I= e d 67| STd Tl 9 Jdl ¢ fob I ol & IT 91 & A& bl
It T Tq1eA 7, I 98 M UM o1 3581 3 A 8 STl 5| & U8 AT HaT T fb Bt g # €Y Iies o & sr=alf ot Sruet eIkt
3R HW TS HT IRTT A BT AR A0l W d BT U Haidd Hedqul HRIHR §- i ! 19 T TART AT a1 BT wensif # ag
GART T SA1GT Bil § b I AR Sigt SR 3§ olewm, Fifoh 39 Mg | Sifad 91 T8--18 ald U1 9 & G gidl g

Sub questions

Question Number : 96 Question Id : 97675518286 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
qAGH & IR et &1 31 g2
Options :

1. % HH DHIAT

2. % fauy R 3ffYBR U BT

3. ¥ S BT TN BT

4. % HH AT YT HAT

Question Number : 97 Question Id : 97675518287 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TR T A & SR -

Options :

1. % IRING 99 1 IS g B aadHdl ol sldl

2. ¢ ARING o9 H TR 3R A9 gf 3t +t siazaswsdr gt 8
3. % YRR 47 9= B! HH BIRAR §914T 8

4. % IRING 97§ UHHH Heayul dd §

Question Number : 98 Question Id : 97675518288 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



TR & AR IH Hd RYE A 99 oIl 82
Options :

1. ¢ OI§ 391 Fihg yanT 7 foear sme

2. % Jq I &3l dP g1 WAd 7 B a1 9y
3. % O§ 39 URINSG 97 F 7 SNST oMY

4. % 9 IY W YUia: 3fEbR 7 fobar Sig

Question Number : 99 Question Id : 97675518289 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
T8 A B - 91 Fiohy 1 yaigare 781 32
Options :

1. % $HS

2. % Garal

3. ¢ fAfspg

4. % fopgrRita

Question Number : 100 Question Id : 97675518290 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
3 3¢ B g IUYad Y-
Options :

1. % fAfspy I

2. ¢ T BT Fichd TN

3. % YRIRG 94

4. % §fQ I HaGDhdl

Question Id : 97675518285 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No

Question Numbers : (96 to 100)

T fou TR T % 91 5 Uy AU T ¥ | 39 I & e U¢ 3R IR fawedl H | U U BT Jakad IR T |



e dhaa aul sl & 3fd® Siia- &1 U 3= I &, 51d b I Afchd AT b WY 31T U 9 S[ST1 3| Iedi I Ig SAT=T 6! Pt oIl
Tt fh URTS 1 qHSIU IqUS HT &6 HapTa & 99 I7 MHNd H7| STd Tl 98 G0dl ¢ fob I Joid o IT 9H & A& bl

I 7 e 7, 34 a8 I UM Bt 381 340 9 § STt 8| & T8 P dHrall o1 fob Bt omg & €1 ARG o & 52l &1 7ot SRR
3R HMW TS HT IRTT ¢ BT AR A0l I d BT U Haidd Hedqul HRIHR §- e ! 1 BT TART ST a1 BT weqsif # ag
FRT Yo 1G] 81T g b I FRUS® Sy SR I8 ST, Fifeh 39 g # Aifgd 41 To-T5 a1d 9ie- 4 & Gafid 8idi g

Sub questions

Question Number : 96 Question Id : 97675518286 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
qAGH & IR FRreqt &1 31 g2
Options :

1. % HH DT

2. % {qWg WR SHfYBR U Bl

3. ¢ S BT YN BT

4. % HH AT U HRAl

Question Number : 97 Question Id : 97675518287 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T H oG & SR -

Options :

1. % IRING 99 T a9 g o1 Saadhdi sl sldl

2. ¢ YRING 97 T THIERT 3R ol gfg Bt o srazadhd gl &
3. % RIS 97 T B HH SRR ST §

4. % IRANG 97§ UHHH Heayul dd §

Question Number : 98 Question Id : 97675518288 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TR & SR IM Hd RYS g 9 oIl 82
Options :



1. ¢ Sd 3BT fehd YANT A fobaT ST

2. % S9 I DTSl dh g1 HIed 9 DR far ey
3. % 99 39 YRING oH7 F 7 sl Sy

4. % 9 IY W qUic: e 7 febar Sig

Question Number : 99 Question Id : 97675518289 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
378 A P - 1 fha b1 vafaarh T 2
Options :

1. % HG

2. % Gt

3. ¢ fAfspg

4. % fopgrita

Question Number : 100 Question Id : 97675518290 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
3 3¢ B Plg IUYad Y-
Options :

1. ® ffssa IH

2. ¢ 9 &1 "ishd YA

3. % YRR %4

4. % §fQ I Ha=GDhdl
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Question Number : 101 Question Id : 97675518291 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
As per IS 10500: 2012, the permissible limit of Free residual chlorine in the absence of alternate source in drinking

water is:
Options :
| = 02mgl
, % 0.3mg/l

3 1.0mgl



4 = 1.5mgl

Question Number : 101 Question Id : 97675518291 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

IS 10500: 2012 & HFER, 9N &F I H Sehfods Fid & IHE H Hod Hase Folla $H HgAg
"I Far g2

Options :
| # 02mgl

, % 0.3mg/l
3« l.0mgl

4 w 1.5mgl

Question Number : 102 Question Id : 97675518292 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

are those solids which remain floating in sewage.
Options :
|« Suspended solids

> % Dissolved solids

3 % Colloidal solids



4 % Settleable solids

Question Number : 102 Question Id : 97675518292 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T W IS § A Fe-oe (@Ee) & S w #

Options :

| v T B ey

, » fgfes 3w Tord

s % PIEOE 3T TETY

, % TEEE AIF I qEre

Question Number : 103 Question Id : 97675518293 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
A 2% solution of a sewage sample is incubated for 5 days at 20 degree Celsius. The depletion of oxvgen was found to
be 4ppm. Determine the BOD of the sewage.

Options :

| % 100ppm

5> « 200ppm

3 % 350ppm



4 % 400ppm

Question Number : 103 Question Id : 97675518293 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

HA-SToT & FAHA * 2% = # 200C R 5 e F e AT Gar s g1 A= S FHr dppm
aTE TR| Hel-siel H BOD Fiia 3

Options :

| % 100 ppm

5> « 200 ppm
3 % 350 ppm
4 % 400 ppm

Question Number : 104 Question Id : 97675518294 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

_ areused for removing grit and sand in preliminary treatment of sewage.
Options :

| % Screenings

2« Detritus tanks

3 % Skimming tanks



4. % Vacuators

Question Number : 104 Question Id : 97675518294 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

ToT-TeT & HEE 3Ta & a9 #Y 39 & go & fov T O FaT AT B

Options :

|« T (ERE)
, v FTE T (SReew &)
s« FUST T (TRFET )

AR (FFIU)

4, %

Question Number : 105 Question Id : 97675518295 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Calculate the diameter of a circular sewer laid at a slope of 1 in 400 when it is running half full, and with a velocity of
1.9m/s. (n in Manning's formula = 0.012).
Options :
1.« 1.23m

» % 3.05m

3 % 4.42m



4 % 5.20m

Question Number : 105 Question Id : 97675518295 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
400 F 1 & T R TAST 39 JodhR Hol-HAel Aol & T T 0T 7 59 98 1.9m/s & I &
Ty 3R &Y g% W8 W A (AT & gF A n = 0.012)]

Options :

1.« 1.23m
2 # 3.05m
3% 4.42m
4. % 5.20m

Question Number : 106 Question Id : 97675518296 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
is a Primary air pollutant.
Options :

| % Sulphuric acid

> % Ozone

; % Formaldehyde



4 Sulphur dioxide

Question Number : 106 Question Id : 97675518296 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Sruf3e Iy weEE gl

Options :

| TN 3E
3'33!3@?1'-5-3313?

4‘¢m§réaﬁaatn$€

Question Number : 107 Question Id : 97675518297 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
A sound pressure level on reference scale of (in micro Pascal), is usually adopted to express sound levels in
decibels.

Options :
1. % 2

2.¢ 20

3 % 200



4 % 2000

Question Number : 107 Question Id : 97675518297 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T eI G T & (UWPa #H) F Ty Y9 W, OHT: eI T & Sfiwe # =o9g e
& forT svamar Jar 2

Options :

| % 2

2. v 20
L % 200

4 % 2,000

Question Number : 108 Question Id : 97675518298 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

As per IS 4954-1968, the acceptable indoor noise level (in dB(A)) for Hospitals is:
Options :

| % 25-30

7 #® 30-35

3 @ 35-40

4 % 40-45



Question Number : 108 Question Id : 97675518298 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
IS 4954-1968 F 3FER, Ffkcarerdl & fow FEe ais Fiemgs TR {dB (A) #} fraar gar 22

Options :
1. ® 25-30

Question Number : 109 Question Id : 97675518299 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

1 Atmospheric pressure isequalto  mm of Hg.
Options :

1. % 300

Question Number : 109 Question Id : 97675518299 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

1 SgAST a9 Hg & mm & ST g 2

Options :
1. % 300

Question Number : 110 Question Id : 97675518300 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

As per IS 4954-1968, the acceptable indoor noise level (in dB(A)) for Restaurants is
Options :

| % 25-30

Question Number : 110 Question Id : 97675518300 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



IS 4954-1968 & 3R, (Tt & T T 3mafis Feege TR {dB (A) #} fraar gar 82

Options :
1. ® 25-30

Question Number : 111 Question Id : 97675518301 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
is characterized by a change of sound pressure of at least 40 dB within 0.5 second with a duration of less than

one second.
Options :
1 % Continuous noise

» % Uninterrupted noise

3 % Intermittent noise

4  lmpulse noise

Question Number : 111 Question Id : 97675518301 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



T Wehs | FH I AT & A1, 0.5 s & el ¥AqH 40 dB ¥ I g IRaas &r
fererar 21

Options :

| % 3SR lelgel
). % HEINUT HITEs
s« 3SR

4 v HTEET SIS

Question Number : 112 Question Id : 97675518302 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

refers to the action of cutting and tearing of solid waste
Options :
1. % Pulverisation

»  Shredding
;3 % Composting

4 % Incineration

Question Number : 112 Question Id : 97675518302 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



Options :

| T (TERTESRE)
5 o HA% (ATE)
s x IE-HIFASOT (FATEET)

, « FEAET ERafAE)

Question Number : 113 Question Id : 97675518303 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In composting of refuse. the final end product which is a brown coloured odourless innocuous powdery mass is called

as:
Options :

L% Sludge
> « Humus

3 % Solid waste

4 % Leachate

Question Number : 113 Question Id : 97675518303 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
F FH WE §a H, HTH 3091 Fr 8T T F TUET @A T3S AT & T ¢, FIT FHgalrel g7

Options :

v T (T

3 % 3T HUTIrse

, w TSI ()

Question Number : 114 Question Id : 97675518304 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
A 25c¢m diameter pipe carries oll of specific gravity 0.9 at a velocity of 3m/'s. At another section the diameter is 20cm.

Find the mass rate of flow of oil.
Options :

| = 125.48kgfs

, o 132.23kgfs
3 » 145.8%g/s

4 % 180.50kg/s

Question Number : 114 Question Id : 97675518304 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

25cm TUTH & TH ST 3m/s & T F 0.9 IEF UeicT Il A F Fg T g1 T TS A AF

20cm g1 e & YIS T eTAT &7 AT Hll
Options :
| % 125.48kg/s

) o 132.23kgls
3 % 145.89kg/s

4 % 180.50kg/s

Question Number : 115 Question Id : 97675518305 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The flow in which fluid moves radially inwards towards a point where it disappears at a constant rate is known as:
Options :

1.« Sink flow

> ® Source flow

5 % Superimposed flow

4 % Uniform flow

Question Number : 115 Question Id : 97675518305 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

T¢ varg 5w 89 309 &1 § e AR v 0F fg Fr N afy Far g S 9 ™R A W

AT &7 JATm g, 47T Fgolldl £7
Options :

 —
1. I oadd Hdlp
5« BT FEE

, » AT Fa1E

4 % U HHAA T8

Question Number : 116 Question Id : 97675518306 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Velocity defect is defined as the:

Options :

| % sum of maximum velocity and local velocity at any point

,  Difference between maximum velocity and local velocity at any point

; % Ratio of maximum velocity and local velocity at any point

4 % Product of maximum velocity and local velocity at any point

Question Number : 116 Question Id : 97675518306 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

3T AW F By v & oferRa BT w3

Options :

- forer off foig TX 31feas w1 3R wuElT a4 @1 AT
zwmaﬁﬁgqtaﬁméw}ﬁ?m;ﬂwéma:mm

| o T o g R AR 39 AR T 39 H g

L x Wmﬁgﬂmﬁﬁ?méﬂﬂﬂummm

Question Number : 117 Question Id : 97675518307 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Water is flowing through a horizontal pipe of diameter 200mm at a velocity of 3m/s. A circular solid plate of diameter

150mm is placed in the pipe to obstruct the flow. Find the loss of head due to obstruction in the pipe if coefficient of

contraction is 0.62.
Options :

1% 1.125m

7 # 2.451m

3. ¢ 3.31lm

4 % 3742m



Question Number : 117 Question Id : 97675518307 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
9TaAT 200 mm SATH & T &fas 959 A ¥ 3m/s & 397 & o¢ @& g1 J9g H 7 =/ & o7 150 mm
SATH ' T el 31 Toie 9189 H @I S g1 Ife FHaed &7 0T 0.62 8. @ ST H THEe &

FIOT ErEr==Iar &F AT Hil
Options :
1. % 1.125m

) % 2451 m
3. ¢ 331l m

4 % 5742 m

Question Number : 118 Question Id : 97675518308 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Hydraulic gradient line is defined as:

Options :

| % The line representing the sum of pressure head, datum head and velocity head with respect to some reference line
» % The line representing the sum of pressure head, datum head and suction head with respect to some reference line

3 « The line representing the sum of pressure head and datum head with respect to some reference line

4 % The line representing the sum of pressure head and suction head with respect to some reference line



Question Number : 118 Question Id : 97675518308 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 119 Question Id : 97675518309 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The distance measured perpendicular to the boundary of solid body, by which the boundary should be displaced to

compensate for the reduction in flow rate on account of boundary layver formation is known as:
Options :

| # Boundary layer thickness

o % Momentum thickness

3« Displacement thickness



4 % Energy thickness

Question Number : 119 Question Id : 97675518309 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 120 Question Id : 97675518310 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
AFlat plate 1.5m x 1.5m moves at S0kny'hr in stationary air of density 1.15 kg per cubic meter. If the coefficient of lift

i3 0.75 . determine the lift force.
Options :
| % 100.58N

5 & 187.20N



3 % 208.96N

4 % 470.50N

Question Number : 120 Question Id : 97675518310 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :
1. % 100.58N

> & 18720N

3 % 208.96N
4 % 470.50N
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Question Number : 121 Question Id : 97675518311 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

If the Froude number is less than one, then the flow in open channel is said to be:

Options :
1 #® Critical

7 « Sub-critical
3 % Super critical

4 % Torrential flow

Question Number : 121 Question Id : 97675518311 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
IS W3S AT Uk W FH &L ar 4.3@1 JOTTc {':]rlo-f) H Y & FAT Fal AT g7

Options :

1 % ﬁﬁa‘_l
5 v 39-FIa®
3 % swa-Ffas

4 % TS WA

Question Number : 122 Question Id : 97675518312 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The ratio of the power available at the shaft of the turbine to the power delivered to the Runner is known as
Options :

| % Hydraulic efficiency

»  Mechanical efficiency
;3 % volumetric efficiency

4 % Overall efficiency

Question Number : 122 Question Id : 97675518312 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :
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Question Number : 123 Question Id : 97675518313 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Identify the type of draft tube.

Options :
1. ® Conical draft tube

» % Simple elbow tube

3« Moody spreading tube



4 % Draft tube with circular inlet and rectangular outlet

Question Number : 123 Question Id : 97675518313 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :
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Question Number : 124 Question Id : 97675518314 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



The diameters of an impeller of a centrifugal pump at inlet and outlet are 30cm and 60cm respectively. Determine the
minimum starting speed of the pump if it works against a head of 30m.

Options :

| 891.80 rpm

> % 704.56 rpm

3 % 400.59 rpm

4 % 307.52rpm

Question Number : 124 Question Id : 97675518314 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

UF HUHE 9T & GUEsH & =UTH Ag9H 3T st 9¥ FHer 30cm 2T 60cm ] I 99 30m F
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Options :

1'\_/891.8[}1"[}111

> % 104.56 rpm

3 % 400.59 rpm

4 % 307.52r1pm

Question Number : 125 Question Id : 97675518315 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

is equal to the product of mass and acceleration of the flowing fluid and acts in the direction opposite to
the direction of acceleration.
Options :
|« Inertia force

, % Gravity force
3 % Viscous force

4. % Pressure force

Question Number : 125 Question Id : 97675518315 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 126 Question Id : 97675518316 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

is a Non-recording rain gauge.
Options :
| # Tipping bucket rain gauge

» % Weighing bucket rain gauge
3 % Siphon's rain gauge

4 Symon's rain gauge

Question Number : 126 Question Id : 97675518316 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
% IR AT
Options :
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Question Number : 127 Question Id : 97675518317 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
An isohvet is a contour of:

Options :

| % Equal evaporation

» % Equal transpiration
3 % Equal depth

4  Equal rainfall

Question Number : 127 Question Id : 97675518317 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :
| % HATA 99«

Ly
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3. % E"g‘

4 v THATH TN

Question Number : 128 Question Id : 97675518318 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
is the direct runoff hvdrograph resulting from one centimetre of excess rainfall generated uniformly over a

catchment area at a constant rate for an effective duration.
Options :
1. ® S-curve

, % Hyetograph
3« Unit Hydrograph

4 % Mass curve analysis

Question Number : 128 Question Id : 97675518318 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :
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Question Number : 129 Question Id : 97675518319 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Let M be the order number of relevant flood and N be the total number of annual floods, then the probability P of each

flood being equalled or exceeded is given by

Options :
1. % P=m/N
> # P=m-N

3 v P=m/(NFl)

4 % P=m/(N-1)

Question Number : 129 Question Id : 97675518319 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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How @ B wf¥mar P e Reeal # ¥ Fus canr sgeg $r e

Options :
| % P=m/N
> # P=m-N

3 ¢ P=m/(NFl)

4 % P=m/(N-1)



Question Number : 130 Question Id : 97675518320 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
is a crop of Rabi season.

Options :

1« Wheat

2. Rice
3 ® Maize

4 % Cotton

Question Number : 130 Question Id : 97675518320 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

Question Number : 131 Question Id : 97675518321 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
The field capacity and permanent wilting point for a given 0.8m root zone soil are 35 and 10 percent respectively. At a
given time, the soil moisture in the given soil is 20 percent when a farmer irrigates the soil with 250mm depth of water.
Assuming bulk specific gravity of the soil as 1.6, determine the amount of water wasted from the consideration of
irrigation.
Options :
1 % 10.45%

)« 23.20%
3 % 33.54%

4 % 40.70%

Question Number : 131 Question Id : 97675518321 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :
1 % 10.45%

5 & 23.20%

3 % 33.54%



4 % 40.70%

Question Number : 132 Question Id : 97675518322 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
A Lysimeter is used to measure:
Options :

| « Potential evapotranspiration

» % Evaporation
;. w Precipitation

4 % Runoff

Question Number : 132 Question Id : 97675518322 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

U SEAIAET &1 Y419 F7 A9 & fore oFar Srar 872

Options :

- L
|« HHET drHed-3cH =l



Question Number : 133 Question Id : 97675518323 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Find the minimum diameter of a steel wire, which is used to raise a load of 4000 N if the stress in the rod is not to
exceed 95MN/ sq. meter.
Options :
% 3.54 mm

7 #% 547 mm
3. ¢ 7.32 mm

4 % 10.40 mm.

Question Number : 133 Question Id : 97675518323 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
3H ST % AR & ~AaH TAIH AT &, (o T 38 55 § 4000 N & X & 331 & forw fFar

ST & oo wfaeer 95MN / m? & 3f9% 8T Bl

Options :

% 3.54 mm
7 #% 547 mm
3. ¢ 7.32 mm

4 % 1040 mm



Question Number : 134 Question Id : 97675518324 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Bulk modulus is defined as:
Options :
1. % Sum of direct stress and volumetric strain

> % Difference of direct stress and volumetric strain
3 % Product of direct stress and volumetric strain

4.+ Ratio of direct stress and volumetric strain

Question Number : 134 Question Id : 97675518324 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 135 Question Id : 97675518325 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
A cantilever of length 2.5m carries a uniformly distributed load of 16.4KN per meter length over the entire length. If the

moment inertia of the beam is 79500000 mm*4 and value of E = 200000 N / sq. milli meters, determine the deflection at

the free end.
Options :
1 ® 2.56mm

> # 4.73mm
3« 5.03mm

4 % 7.84mm

Question Number : 135 Question Id : 97675518325 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :
1. ®% 2.56 mm

o ® 4.78 mm
3.« 3.03 mm

4 % 7.84 mm



Question Number : 136 Question Id : 97675518326 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
A FAT SE statement regarding the assumptions made in the derivation of shear stress produced in a circular shaft

subjected to torsion.
Options :
| % The material of the shaft is uniform throughout

» « The twist along the shaft is non-uniform
5 w The shaft is of uniform circular section throughout

4 = Cross sections of the shaft, which are plane before twist remain plain after twist

Question Number : 136 Question Id : 97675518326 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 137 Question Id : 97675518327 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Guest's theory is also known as;
Options :

| % Maximum principal stress theory

» % Maximum principal strain theory
3 Maximum shear stress theory

4 % Maximum shear strain theory

Question Number : 137 Question Id : 97675518327 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 138 Question Id : 97675518328 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
A surveyor measured the distance between two points on the plan drawn to a scale of lcm = 40m and the result was

468m. Later however, he discovered that he used a scale of Icm = 20m. Find the true distance between the points.
Options :
1 ® 504m

) ® 748m
3.« 936m

4. % 1052m

Question Number : 138 Question Id : 97675518328 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1% 504m

> ® 748 m



3 « 936m

4 % 1.052 m

Question Number : 139 Question Id : 97675518329 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Error may rise due to want of perfection of human sight in observing and of touch in manipulating instruments is known

as:
Options :
1. % Instrumental error

>« Personal error
3 % Accidental error

4 % Natural error

Question Number : 139 Question Id : 97675518329 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 140 Question Id : 97675518330 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
A 20m chain used for a survey was found to be 20.10m at the beginning and 20.30m at the end of work. The area of the

plan drawn to a scale of lcm = 8m was measured with the help of planimeter and was found to be 32.56 sq.cm. Find the

true area of the field.
Options :
| % 1094 sq.m

)« 21265q.m
3 % 3541 5q. m

4 % 2l12sq.m

Question Number : 140 Question Id : 97675518330 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 141 Question Id : 97675518331 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
An offset is laid out 2 degree from its true direction on the field. If the scale of the plotting is 10m to lem., find the

maximum length of the offset so that the displacement of the point on the paper may not exceed 0.25mm.
Options :
1 #% 2.74m

Question Number : 141 Question Id : 97675518331 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1 % 2.74m



) #% 45l m
3% 5.77m

4.« T7.16m

Question Number : 142 Question Id : 97675518332 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
If the whole circle bearing (WCB) is between 180 ® and 270 “, then the Reduced bearing (RB) is:

Options :
1. & RB=WCB
> # RB=180°-WCB

3 v RB=WCB -180°

4 % RB=360°-WCB

Question Number : 142 Question Id : 97675518332 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

IfE F9OT gea egFAe (WCB) 180° 3R 270° & &= g, af ®aEg f&@a=r (RB) &4 grem?
Options :
1. # RB=WCB

, % RB=180°-WCB



3 « RB=WCB -180°

4 % RB=360°-WCB

Question Number : 143 Question Id : 97675518333 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The systematic departure of the declination from its mean value during a period of 24 hrs is known as:

Options :
1« Diurnal variation

> % Annual variation
3 % Secular variation
4 w lrregular variation

Question Number : 143 Question Id : 97675518333 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 144 Question Id : 97675518334 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which method is used to locate the contours in case of hilly terrain?
Options :

1. # Direct method

) % Squares method

3 « Tacheometric method

4 % Estimation method

Question Number : 144 Question Id : 97675518334 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 145 Question Id : 97675518335 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Find the combined correction for curvature and refraction for distance of 3400m.

Options :

1.« 0.778m
> # 1.457m
3 % 3.124m
4. % 3.784m

Question Number : 145 Question Id : 97675518335 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 146 Question Id : 97675518336 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
is the operation of lifting a weight from one location and moving it to another location which Is at a reasonable

distance and then dumping it.
Options :
| » Hauling

,  Hoisting
;. » Conveying

4 % Piledriving

Question Number : 146 Question Id : 97675518336 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 147 Question Id : 97675518337 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
A False statement regarding the conveyors in construction.
Options :

|« Conveyors decreases the output

, % Conveyors facilitates continuity in operation
;. % Conveyors results in time saving

4 % TIhere are no waiting periods

Question Number : 147 Question Id : 97675518337 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :
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Question Number : 148 Question Id : 97675518338 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In which type of organization structure, an attempt is made to preserve the strong points of both the line personnel and
staff personnel?

Options :

| % Line and staff organization

»  Matrix organization
3 % Line organization

4 % Functional organization

Question Number : 148 Question Id : 97675518338 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :
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Question Number : 149 Question Id : 97675518339 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
For ultimate limit states, the code specifies a partial safety factor of steel as:

Options :
1.« 1.15

Question Number : 149 Question Id : 97675518339 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :
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Question Number : 150 Question Id : 97675518340 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Calculate the modular ratio for M30 grade concrete if the permissible Compressive stress of concrete in bending is 10

MPa.
Options :
1% 6.44

) % 7.18
3 # 8.11

4 & 9.33

Question Number : 150 Question Id : 97675518340 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

g soar H FHHIT F AT TS giaaa 10MPa g, d@F M30 313 e & o sardha (AisgeR)
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Options :

1 ® 644

) % 7.18

3 % 8.11

4 @ 933



Question Number : 151 Question Id : 97675518341 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The distance measured from the exposed concrete surface to the nearest surface of the reinforcing bar is known as
Options :

| % Nominal cover

> # Effective cover
3 « Clear cover

4 % Normal cover

Question Number : 151 Question Id : 97675518341 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

3T b Hdg ¥ Falod 5 H [Aeeds Tag a& AN 715 g # fhg ¥ H AT 1T 87
Options :

| % STHET HEIOT

> % FHED HTEIOT
3« TISC 3TEOT

4 % TTAET 3TET0T

Question Number : 152 Question Id : 97675518342 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

In columns, Effective length factor is defined as
Options :
% Sum of effective length and unsupported length

1.
, % Difference of effective length and unsupported length

3 % Product of effective length and unsupported length

4  Ratio of effective length to unsupported length

Question Number : 152 Question Id : 97675518342 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 153 Question Id : 97675518343 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

What is the value of impact factor (in %) for frames supporting lifts and hoists?
Options :
1. % 20

) # 40

(O8]
8
L |
=

4« 100

Question Number : 153 Question Id : 97675518343 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1 % 20

) # 40

8]
b
L |
=

4« 100

Question Number : 154 Question Id : 97675518344 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
A False statement regarding the assumptions made in the design of riveted joints.



Options :
| Rivets are assumed to be stressed unequally

, % Friction between the plates is neglected
5 w Stress ina plate is assumed to be uniform

4 % Bending of rivet is neglected

Question Number : 154 Question Id : 97675518344 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :
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Question Number : 155 Question Id : 97675518345 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
What is the maximum slenderness ratio for a strut connected by a single rivet at each end?
Options :



| v 180

Question Number : 155 Question Id : 97675518345 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Yede BR W U% & ¥ 53 &% () & v sfteasn aqar seaa #2r 22
Options :
1.« 180

Question Number : 156 Question Id : 97675518346 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A tie bar 50mm x 8mm is to catry a load of 80KN. A specimen of the same quality steel of cross sectional area 250 sq.
mm was tested in the laboratory. The maximum load carried by the specimen was 125KN. Find the factor of safety in
the design.

Options :



) % 1.5
3 % 2
4.+ 2.5

Question Number : 156 Question Id : 97675518346 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
50mm X 8mm T T Sk ©F & 80KN &7 91X 98 3T gl TAE UM Aol TEATT & FH &1,

foraen 3T9Ey #1E SFFE 250 mm? &, TS H S{&T0T AT T ol Aee gET g fehar T
HOwad s 126KN o7 #fereT # Gl uceH A1

Options :

1 % 1

7 % 1.5

[

Question Number : 157 Question Id : 97675518347 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
As per IS 456: 2000, for prismatic beams of rectangular sections and slabs of uniform thickness and spans up-to 10m,
the basic span to depth ratio for continuous spans is



Options :
1 % 7

Question Number : 157 Question Id : 97675518347 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
IS 456: 2000 F FFHR, HIATHN TSl F WA oA N FA A J97 10m JF # fFrgha a
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Options :

1.% 7

Question Number : 158 Question Id : 97675518348 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The speed value that occurs most frequently in a sample of spot speeds is known as
Options :



w Average speed
» % Median speed
» Modal speed

4 % 1th percentile spot speed

Question Number : 158 Question Id : 97675518348 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1 % mﬂ%
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Question Number : 159 Question Id : 97675518349 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
are conducted to collect data on the number of vehicles and or pedestrians that pass a point on a highway

facility during a specified time period.



Options :
| = TIravel time and delay studies

» % Parking studies
3 % Spot speed studies

4 « Volume studies

Question Number : 159 Question Id : 97675518349 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :
| % I WHT AR Few # semss
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3 % TS T & HeTTT
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Question Number : 160 Question Id : 97675518350 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The part of the delay during which the vehicle is at the rest is known as



Options :
| = Operational delay

, % Iravel time delay
3 Stopped time delay

4 % Fixed delay

Question Number : 160 Question Id : 97675518350 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 161 Question Id : 97675518351 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The total number of vehicles that park in a study area during a specific length of time, usually a day is known as
Options :

| = Parking load

, % Parking accumulation

3  Parking volume



4 » Parking duration

Question Number : 161 Question Id : 97675518351 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :
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Question Number : 162 Question Id : 97675518352 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In which phase of the study in the highway location process, the positions of the feasible routes are set as closely as
possible by establishing all the control points and determining preliminary vertical and horizontal alignments for each?
Options :

L% Office studv of existing information

, % Reconnaissance survey



3 Preliminary location survey

4 % Final location survey

Question Number : 162 Question Id : 97675518352 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :
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Question Number : 163 Question Id : 97675518353 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :
1 % 800ft



» % 1200 fi
3« 1500 fi

4 % 3000 ft

Question Number : 163 Question Id : 97675518353 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The elevation of two points A and B on an aerial photograph are 5001t and 5651t respectively. The scales at these points
on the photograph are 1:10000 and 1:9870 respectively. Determine the elevation at point C, if the scale at the C is

1:8000.
Options :
1 % 800ft

5 % 1200ft
3« 1500ft

4 % 3000ft

Question Number : 164 Question Id : 97675518354 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A longitudinal system used to prevent an errant vehicle from crossing the portion of a divided highway separating the
travelled ways for traffic in opposite direction is known as;

Options :



1.« Median barriers
7 % Curb
3. % GQGutters

4 % Guard rails

Question Number : 164 Question Id : 97675518354 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 165 Question Id : 97675518355 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which type of drains are used to relieve pore pressures at slopes of cuts and embankments on the highway?



Options :
| = Longitudinal drains

> % Transverse drains
3 « Horizontal drains

4 % Drainage blankets

Question Number : 165 Question Id : 97675518355 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :
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Question Number : 166 Question Id : 97675518356 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



A driver with a perception - reaction time of 2.5sec is driving at 65mi’h when she observes that an accident has blocked
the road ahead. Determine the distance the vehicle would move before the driver could activate the brakes. The vehicle

will continue to move at 65mi‘h during the perception - reaction time of 2.5sec.
Options :
1.« 238.91t

, % 378.55ft
3 ® 477.58ft

4 % 500.74ft

Question Number : 166 Question Id : 97675518356 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :
1« 2389ft

» % 378.55ft
3 % 477.58 fi

4 % 500.74 fi



Question Number : 167 Question Id : 97675518357 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The distance travelled by a vehicle between the time, the driver observes an object in the vehicle's path and the time the
vehicle actually comes to rest is longer than the braking distance is known as

Options :

L Stopping sight distance

, % Passing sight distance

3 w Braking distance

4 % Displacement

Question Number : 167 Question Id : 97675518357 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 168 Question Id : 97675518358 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The SI unit for moment of force is
Options :
1 % Joule

> % Pascal
3 ® Watt
4.« Newton metre

Question Number : 168 Question Id : 97675518358 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :
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Question Number : 169 Question Id : 97675518359 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Two forces of magnitude 10N and 8N are acting at a point. If the angle between the two forces is 60°. Determine the
magnitude of the resultant force.
Options :
| % 5.48N

> # 11.78N
3 @ 15.62N
4 % 2247N

Question Number : 169 Question Id : 97675518359 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :
| #% 548N

» % 11.78N

4 % 2247N



Question Number : 170 Question Id : 97675518360 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Three forces F1, F2 and F3 are acting on a body as shown in figure. and the body is in equilibrium. If the magnitude of
force F3 is 400N. Find the magnitude of force F1.

Options :
1. #% 100N

» % 150N
3 % 250N

4.« 400N

Question Number : 170 Question Id : 97675518360 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



did 51 F1, F2 3R F3 veh T8 W #18 X 1| § =19 & HAepia & 4 7197 g, 3R [N gwaeern #
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Options :
1 % 100N

» % 150N
3 % 250N
4 & 400N

Question Number : 171 Question Id : 97675518361 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



A body weighing 2000N is suspended with a chain AB 2m long. It is pulled by a horizontal force of 320N as shown in

figure. Find the force in the chain.

I

—

2m

0
£

br o
m

320N

S s e A A s A N

2000 N

Note: For this question, discrepancy is found in question/answer. So,this

question 1s 1gnored for all candidates.
Options :
| 1485N

Question Number : 171 Question Id : 97675518361 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



2,000 N 8T & T R U 2m & §@on AB a1 faeifaa g1 38 320N + 8ifas s g @
ST & S & ampfe & g mar §1 gmen A g9 9

3=

e

]
.}\\h‘:‘k\.\T

l 320N

2000 N

Note: For this question, discrepancy is found in question/answer. So,this

question 1s 1gnored for all candidates.
Options :

| L48sN

5. 2025N
3 345N

4 5.074N

Question Number : 172 Question Id : 97675518362 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



A simply supported beam AB of length 9m | carries a uniformly distributed load of 10KN/m for a distance of 6m from

the left end. Calculate the reaction at A.

10 kM/m

F N
o
3
k4

Bm

L 3

Options :
1. % 10KN

Question Number : 172 Question Id : 97675518362 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

| % 10KN



4 @ 40KN

Question Number : 173 Question Id : 97675518363 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the False statement regarding the laws of solid friction.

Options :

| = The force of friction acts in the opposite direction in which surface is having tendency to move

, % The force of friction is equal to the force applied to the surface, so long as the surface is at rest
;3 % The limiting frictional force bears a constant ratio to the normal reaction between two surfaces

4  The limiting frictional force depends upon the shape and areas of the surfaces in contact

Question Number : 173 Question Id : 97675518363 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 174 Question Id : 97675518364 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The centre of gravity of a parallelogram lies at
Options :

| Apoint where its diagonals meet each other

> % Ends
3 % 1/3rd from the base

4 % 2/3rd from the base

Question Number : 174 Question Id : 97675518364 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :
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3 % HEMT & 1/3

4. % T # 2/3

Question Number : 175 Question Id : 97675518365 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Fluidised bed incinerators can be controlled more effectively to achieve
Options :

| = Lower energy conversion efficiency

, % Higher air emissions
3 « Less residual ash

4 % Less consistent

Question Number : 175 Question Id : 97675518365 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 176 Question Id : 97675518366 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which method of land filling involves the deposition of waste within preconstructed bounded area?
Options :

1. # Trench method

> % Area method
3 % Depression

4 « Cell method

Question Number : 176 Question Id : 97675518366 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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3 % HdoAHe

4 v Feres fafer

Question Number : 177 Question Id : 97675518367 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A False statement regarding the benefits of compaction is
Options :

| Decrease in efficiency of collection and disposal of wastes

> % Increased life of landfills

; % Reduction in the quantity of materials to be handled at the disposal site

4 % [Economically viable waste management system

Question Number : 177 Question Id : 97675518367 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :
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Question Number : 178 Question Id : 97675518368 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What is the mode of action of Jaw crushers (size reduction equipment) ?
Options :

| = Grinding

,  Breaking
5 % Mashing

4 % Slicing

Question Number : 178 Question Id : 97675518368 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 179 Question Id : 97675518369 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
is a non proprietary technology that requires the composting mixture to be placed in piles that are mechanically

in the presence of air.
Options :
| = Invessel composting system

,  Aerated static pile composting
3 % Anaerated static pile composting

4 % Vvermicomposting

Question Number : 179 Question Id : 97675518369 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 180 Question Id : 97675518370 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A False statement regarding the objectives of incineration.
Options :

1« Non reduction of volume

> % Stabilization of wastes

3 % Recovery of energy from waste

4 % sterilisation of waste

Question Number : 180 Question Id : 97675518370 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 181 Question Id : 97675518371 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The Mass of solids per unit total volume of soil mass is known as
Options :

| = Bulk mass density

» « Dry mass density
3 % Saturated mass density

4 ® Submerged mass density

Question Number : 181 Question Id : 97675518371 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 182 Question Id : 97675518372 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The most accurate method for the determination of water content in the laboratory is
Options :

1. % Sand bath method

»  Ovendrying method

3 % Calcium carbide method

4 % Pycnometer method

Question Number : 182 Question Id : 97675518372 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 183 Question Id : 97675518373 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
A sample of sand has a volume of 1000ml in its natural state. Its minimum volume when compacted is 840ml. When

gently poured in a measuring cylinder, its maximum volume is 1370ml. Determine the relative density.
Options :
1. % 47.52%

5 % 54.77%
3« 69.81%

4 % 82.41%

Question Number : 183 Question Id : 97675518373 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :
| % 47.52%

5 % 54.77%

3 69.81%



4 % 82.41%

Question Number : 184 Question Id : 97675518374 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Estimate the capillary rise in a soil with a void ratio of 0.60 and an effective size of 0.0lmm.Take C = 15 sq. mm
Options :

1 #® 1470mm

7« 2500mm
3 #% 3ll4mm

4 % 5025mm

Question Number : 184 Question Id : 97675518374 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

| % 1.470 mm

7« 2,500 mm

3 % 3.114 mm



4 % 5,025 mm

Question Number : 185 Question Id : 97675518375 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A False statement regarding the assumptions of Coulomb's wedge theorv.
Options :

| % The backfill is dry. cohesionless and homogeneous

, w The slip surface is a plane surface which passes through the heel of the wall

3 « The wall surface is smooth

4 % Ihe sliding wedge itself acts as a rigid body

Question Number : 185 Question Id : 97675518375 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 186 Question Id : 97675518376 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Identity the type of pile.

ls

ﬂredge level
C

r

Options :
|« Free cantilever sheet pile

, % Anchored sheet pile
; w Free earth support pile

4 % Fixed earth support pile



Question Number : 186 Question Id : 97675518376 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 187 Question Id : 97675518377 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

The minimum allowable factor of safety against sliding in the case of cantilever refaining wall is
Options :

|.¢ L5

bt

e
b
bt
h

Question Number : 187 Question Id : 97675518377 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 188 Question Id : 97675518378 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



Which method for mat foundations is based on the assumption that the soil behaves like an infinite number of
individual independent elastic springs?
Options :
| % Rigid beam method

» « Simplified elastic method

3 % Elastic method

4 % Non linear elastic method

Question Number : 188 Question Id : 97675518378 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 189 Question Id : 97675518379 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

A False statement regarding the assumptions made for the analysis of trusses.
Options :

| % Allmembers are connected only at their ends by frictionless in plane trusses

» % All members are connected only at their ends by frictionless ball and socket joints in space trusses
5 % Allloads and support reactions are applied only at the joints

. The centroidal axis of each member does not coincide with the line connecting the centres of the adjacent joints

Question Number : 189 Question Id : 97675518379 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 190 Question Id : 97675518380 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which is the conjugate beam for the real beam shown in the figure.
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Question Number : 190 Question Id : 97675518380 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 191 Question Id : 97675518381 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
can be used to determine the quantitative influence lines.
Options :



| Muller Breslau's principle
> % Stiffness method
5 w Flexibility matrix method

Maxwell's reciprocal theorem

Question Number : 191 Question Id : 97675518381 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 192 Question Id : 97675518382 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
1s a force method.

Options :



| # Slope deflection method

> % Kani's method
3« Consistent deformation method

4 % Stiffness matrix method

Question Number : 192 Question Id : 97675518382 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 193 Question Id : 97675518383 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Rigidity factor is defined as
Options :

| % Sum of contact pressure and Tyre pressure



, % Difference between contact pressure and Tyre pressure
; w» Product of contact pressure and Tyre pressure

4  Ratio of contact pressure and Tyre pressure

Question Number : 193 Question Id : 97675518383 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 194 Question Id : 97675518384 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Calculate the equivalent radius of resisting section of 20cm slab, given that the radius of contact area wheel load is

15cm.
Options :



1« 14.07cm
7 # 20.4lem
3 % 24.78cm

4. % 30.74cm

Question Number : 194 Question Id : 97675518384 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1« 14.07 cm

) #% 2041lcm
3 % 2478 cm

4 % 3074 cm

Question Number : 195 Question Id : 97675518385 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
As per IS 67-2001 the sign that is used to caution the driver of the danger of side winds which endanger the lives of
travellers is:

Options :



1. % Lane closures
7« Sudden side winds

;. % Reduced carriageway

4 % Series of bends

Question Number : 195 Question Id : 97675518385 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 196 Question Id : 97675518386 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



In soil stabilization, is a semi hardened or unhardened mixture of water, Portland cement and finelv crushed soil

and this mixture has less cement content.
Options :
1. % Cement stabilized soil

o # Soil cement
3« Cement modified soil

4 % Plastic soil cement

Question Number : 196 Question Id : 97675518386 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 197 Question Id : 97675518387 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

What is the hydraulic mean depth of a rectangular duct having 5m width and 3m depth
Options :
1.« 1.3m

) #® 2m
3 #% 4m

4 % 3.2m

Question Number : 197 Question Id : 97675518387 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :
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Question Number : 198 Question Id : 97675518388 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



A beaker is filled with 1L liquid & weight of the same was found to be 6N. What is the specific weight of the liquid ?
Options :
1. v 6¢10° N/m°

5 % 6%107° N/m?

3 % 0.6%107 N/m?

4 % 0.6%10° N/m?

Question Number : 198 Question Id : 97675518388 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

| ¢ 6%10° N/m’

5 % 6%107 N/m?

Ll

3 % 0.6%107 N/m

4 % 0.6%10° N/m’

Question Number : 199 Question Id : 97675518389 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



Francis tube is a;
Options :
| % lmpulse turbine

7 % Screw turbine
3 « Reaction turbine

4 % Turgo turbine

Question Number : 199 Question Id : 97675518389 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 200 Question Id : 97675518390 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



The number of buckets of Pelton wheel is 25m and diameter of pitch is 1.5 m.What is the diameter of the jet 7

Options :
1.« 0.075m

o #% 1lm

3 % 0.5m

Question Number : 200 Question Id : 97675518390 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

e =@F FT difecdl FI HEAT 25 m ¢ T B=r 71 =@ 1.5 m g1 < (J2) F ;H Fr 2E?

Options :
1.« 0.075m
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3 % 0.5m

4. % 2m



